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BCQ/M21 26346

MANAGEMENT ACCOUNTING
Paper—BC-601

Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Attempt any four
questions out of remaining eight questions.

Question No. 11s compulsory.
e el Y91 o STR UMY | 99 S T9+1 o fh=
TR J o ST ST 99 9 1 sifar 2

Compulsory Question ( A 97 )

1. Attempt all question: 5x4 =20
qeft I9l Rl g X
(a) Discuss Financial Reports.
foritar Ratel o ==l &l

(b) Explain the purposes of Comparative

Financial Analysis.
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qoTcHe Toxity fovemor & el ol e
|

(c) “Fund Flow Statement” is an important

managerial tool? Explain.
“he Tl WeHe! TH HE@UUl AL
EECTUR PR CEIRY

(d) Discuss the meaning and importance of

Profit -Volume ratio.

AT | ST & 31 3T Ao W ==l

|
(e) Explain the objectives of Budgetary
Control.
SS1erd 0T & 32l i AT
2. Discuss the nature and scope of Management

Accounting. Why is it called an essential tool of

management? 15
TeU TREih s Yehfd TR e o == | 39

YU 1 Tk STETHh STHIUT 1 Hal STl ¢ 2
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3. What do mean by Management Reporting?
Discuss the general considerations to be

considered while reporting to management. 15

yaee Raifen 9 s aregd 87 geud il T
T foar feu SITH a1t 9= fommd W ==t 1

4. What 1s meant by Analysis of Financial
Statements? Discuss the objectives and

significance of Financial Analysis. 15

fordtar faeror = fagaiwor 9§ == sifaur 22 fa<ia
forgeTo & Segdl o Hec 9 ==l i

5. Your company has the following earning last year:
Profit before Tax Rs. 34, 46,000
Tax rate 60%
Proposed Dividend 20%
Capital:

(a) Equity shares 32,000 shares
of Rs. 100 each Rs. 321akh
(b) 9% Preference Shares Rs. 101lakh
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(c) Reserve in the beginning of
the year Rs. 221akh
(d) Current market price of
equity share Rs. 250
From the above calculate for equity shares:
(1) Earnings Per Share
(11)  Book Value Per Share
(111) Dividend Payment Ratio
(1iv)  Price Earnings Ratio

(V) Capitalization Ratio 15

3Rt ST 1 Trse o &t frefafea o 2

HL Y AH . 34, 46,000
FL R 60%
JEATrord ATHIST 20%

26346/K/273/T 4



Tl
(&) sfeae =R 32,000 IR

Tk IR 100 T9F T T, 32 MG

(@) 9% IIdm I %, 10 91’

(1) Y %! YESA | Sid T W@ . 22 T8

(%) iR TR F A TR % 250
ST 9 St IRl fae TTor i

(i)  9fd TR =

(ii) o 9o fd TR

(iii) <ATHIYT ST ST

(iv) YeI A A9

(v)  SIRToT ST

26346/K/273/T 5 P.T.O.



6. From the following comparative balance sheets of
Atul Ltd. make out Statement of Changes in
Working Capital and Fund Flow Statement.

I. Equity and Liabilities  2017-18 2018-19

Share Capital 1000000 1100000
Debentures 500000 300000
General Reserve 200000 200000
Profit & loss A/c 110000 190000
Income Tax Provision 40000 110000
Trade Creditors 50000 40000
Bill Payable 20000 30000

Provision for Doubtful Debts 30000 24000

Total 1950000 1994000
I1. Assets
Goodwill 50000 40000
Land & Buildings 420000 660000
Plant & Machinery 600000 800000
Closing Stock 250000 210000

26346/K/273/T 6



Debtors 300000 240000

Cashin Hand 300000 24000
Preliminary Expenses 30000 20000
Total 1950000 1994000

Additional Informations:

(1) During the year 2018-19, a part of the
machinery costing Rs. 7500 (accumulated

depreciation thereon being Rs. 2500) was

sold for Rs. 3000.

(11)  Dividend of Rs. 80000 was paid during the
year 2018-19.

(111) Income tax actually paid during the year
2018-19for 2017-18 was Rs. 60000.

(iv)  Depreciation for the year 2018-19 was
Rs. 50000 on plant and machinery and
Rs. 30000 on Land and Buildings. 15

g feafee & frafafea qoras Sofg 3ie 9@
FEY Yol IR ®e ol Wede § ufedd
foraroT TR 1|
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1. St 3R YuaTd 2017-18

IR gt 1000000
fed=X 500000
SENGATEC 200000
A SR B @ 110000
3T YT 40000
SR TR 50000
7 faet 20000

iy F0Tl & foi qraem™ 30000

E gl 1950000
I1. §uta

ECCICE 50000
g TR e 420000

26346/K/273/T 8

2018-19

1100000

300000

200000

190000

110000

40000

30000

24000

1994000

40000

660000



T 3R TeiEd 600000 800000

FATSITT Tih 250000 210000
STER 300000 240000
BT H s 300000 24000
IR =T 30000 20000

HA 1950000 1994000
faf<h STHaRRT :

G a9 2018-19 &% INH T & TH AW

fSTEehl @ &, 7500 (36 T Hiwd HeIg™

2500 T9F) 3000 T9F o TeT@ S=m T ol

() &9 2018-19 & SR 80000 TII T AT

CARUGIERER IR

(i) 2017-18 & forw o1 2018-19 & I aAEd
T A TR T ST 60000 €9 1

26346/K/273/T 9 P.T.O.



Gv) a9 2018-19 % foIU Joagm o R TR
W ¥, 50000 3R A 3R T W E. 30000

o

7. Define Cash Flow Statement. Discuss 1its

objectives and procedure of preparation. 15

Y Tl W w qRHIft il THE ILIA 3N
TR T i o ==l

8. Following data relates to ABC Ltd.

Sales (16000 units @ Rs. 15) Rs. 240000
Variable expenses 192000
Contribution 48000
Fixed Cost 36000
Profit 12000
(1) What sales are needed to achieve the

objectives of no profit-no loss?

(11) What sales are necessary to result a net
icome of Rs. 11000 the corporate income
tax being 45%?

26346/K/273/T 10



(111) What should be selling price per unit if
break -even point is brought down to 10000

units?

(iv)  What will be break-even point if 10%

increase effected in selling price?

(V) How many units should be sold if sale

price is reduced by 5% and a profit of

Rs. 140007 15
frefafed stiwe T fafies 9 Hefud 21
fashT (16000 3HEA @ 15 TIF) %. 240000
LIECREIRECE| 192000
I 48000
= @ 36000
Ik 12000

(i) T Yifthe-1 @9 & SEYA Rl 91 H h
fore fore faent &Y STEvaRdl 22

(ii) 11000 9 ! Y 3T & RO & foAQ i

26346/K/273/T 11 P.T.O.



o foep STavTe T HIARE AR 45% Tohan

EIRE R
(iii) IS Sh-Fa dige &l TR 10000 IS F

fe ST @ 9 AR fas e @ @
e

(iv) ot 92 # 10% & Ifg TH W dh-3ad
Tise R B2

(v) = fag oo § 5% %1 Fe #1902 eiv

14000 &I T o9 Bidl & o foha Sehrea
= ST =feu|

9. The following expenses at 60% capacity are given.
Find out the overhead costs at 50%, 70% and 90%

capacity and also determine the overhead rates :

Variable overheads: Expensesat60% capacity

(Rs.)

Indirect Labor 10500

26346/K/273/T 12



Indirect Materials 8400
Other Overheads 3600

Semi-Variable Overheads:

Repair and Maintenance (70% Fixed) 7000
Electricity (60% Fixed) 25200
Fixed Overheads:

Office expensesincluding salary 7000
Insurance 4000
Depreciation 20000
Rent & Taxes 12000
Estimated direct labor hours 120000

60% &rmal R Frefafed = KT e 21 50%, 70%

3 90% THdl T AeREe TNTd Sl Tdl U 3R
Aaee X ot fAuffa =

IREqa Uy ; 60% STHAT WX = (&, )

A AH 10500

26346/K/273/T 13 P.T.O.



YT AUl 8400

3T IURY 3600
i -ufadia suftea= :

T SR W@ (70% fhees) 7000
ferstedt (50% TheRee) 25200
freRe mt

- Wied ey 43 7000
CIE|| 4000
qegH 20000
feparan 3R 12000
STAIA Jeaet o = 120000.

26346/K/273/T 14
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BCQ/M21 26348

HUMAN RESOURCE MANAGEMENT
Paper—BC-603

Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions out of

remaining eight questions.

el Ure YA & S AT | g9 F&A 1 Afard
g Yy ome WAl H R W oW % SW
KIS

Compulsory Question ( AFa™ W97 )

1. Briefly explain the following : 5x4 =20

=1 =1 g o 9 wifse

(a) Design of Training Programme

JTTe70T TR H hi YR
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(b) Difference between Human Resource
Management and Human Resource
Development.
e GH1EH Yo-4 T AHa 991eq faad |
Hl

(c) Contents of Job Specification.
Frd fafdredr & acl

(d) Management by Objectives
T Ja-Y

(e) Transfer and its causes
TAIAROT T 3G |

2. Define Recruitment. Discuss the general factors
affecting Recruitment. 5+10=15

YT Sl TRTA Y| Al bl FHTTAd i el TH

Tqcdl ohl U i

3. What 1s Performance Appraisal? Explain its
process. 5+10=15

26348/K/275



froqe - ot @ 8?2 s Wihar 1 9uiA
hifeId|

What is the significance of Training? Explain

various on the Job Training methods. 5+10=15

IO 7 RN Hed 27 w1 9y i fafa=
fafirt =1 goia sifsa)

What is Human Resource Management? Explain

1ts importance. 5+10=15

HFe G9EE Y9y F 2?7 9% HEwd Sl 9uH
shifsTu|

Define Job Analysis.Explain the different method
of Job Analysis. 5+10=15

1 fovewor ot Ry e e faveuon =t
fafyr= faferai =1 auiH =1

What is Selection? Explain the selection process

of a big company. 5+10=15

26348/K/275 3 P.T.O.



I 9 1 31 B2 Wk S HIH] bl = GHAT

U SHifSq|

8. Define Human Resource Planning. Describe its

objectives. 5+10=15
e GETeH s i aRiid Y| S8 394 Hh

U HifeIu|

9. What are the internal sources of Recruitment?
Explain merits and demerits of internal source of

Recruitment. 5+5+5=15

Tl & STeh Gid o 87 9ol & ST=ieh 9id &

(aWa

T[0T Wl ST <1 Ui Iy

26348/K/275 4
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BCQ/M21 26349
INCOME TAX-II
Paper—BC-604

Time allowed : 3 Hours Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

Fd Ui Y % SR AT | 99T "' 1 et ®1 9w e wel o
9 fr=l =) o9 & 3w il

Compulsory Question ( SIECICEREED)
1. Attempt all questions : 5%4 =20
T g % SW ?ﬂﬁﬂ'{ :
(a) Provisions of Section 80GG
¥ 80GG & €M

(b) Firm under Section 184
YR 184 & d8d HH % JEHN

(©) Explain the taxation rates for Firm and Individual.

w4 @R sfefaseT & fay uum &1 U %) e w1
(d) Procedure of Refund of Tax

3 i A 1 gl

(e) Provision of Deduction at source in case of Lottery Income.
Al o & A | Wid W ! Sl W

2. What do you mean by Central Board of Direct Taxes (CBDT)? Explain its

powers in details. 15
ST TF L d9ig (CBDT) | MTehT 1 dcqd 82 Hheld Fouel &l e
1 el i e

3. What do you mean by Best Judgement Assessment? What are the

consequences of Best Judgement Assessment? Are there any remedies
open to assessee against such assessment? 15

26349/K/276 P.T.O.



g fofa el @ eyt F acgd ?? wdgs fofa geaiea &

N

RO R B? RN 9 TR o SMhed & fEe afehe i % fou wig

ST 772
4. Describe the procedure of filing an appeal to Appellate Tribunal against
the order of a Commissioner (Appeals). 15

Teh e (7)) & 3R & faard odfia feeda sl SRR i

1 YisRaT kT U H|

5. What do you mean by Filing Return of Income? Is it mandatory? Explain

the procedure of filing tax return online. 15
g1t 1 T BEd W 9 e = oref 22 g eifrard B2 de

{9 ST 9 ki gfshan admd|

6. Explain the provisions of Income Tax regarding Advance Payment of
Tax. 15
R & ST I & IR § ST & WIauHl i GHSEU)

7. Explain the following : 15

fr=fafea & e % e
(a)  Deduction under Section 80D €I 80D & T&d Herdt
(b)  Deduction under Section 80DD #NI 80DD & q&d sherdl

() Methods of Recovery of Tax. S i oAl % |

8. Dr. M. Bindlish is an employee of the Central Government. He joined on
Ist April 2018. From the following information compute his tax liability
for the Assessment Year 2019-20

Salary Rs. 10,00,000
D.A. Rs. 90,000
H.R.A. (He lives in his own House) Rs. 2,20,000
He and the government contributed 10% of Salary and D.A. to the Pension
Fund.

He paid Rs. 11,000 life insurance premium to L.I.C. of India. 15
e wH faefowr #% SR & FwHO §l 98 1 3TUd 2018 ! INiHA
Tu|

26349/K/276 2



frafafea Sl 9 sTehe a9 2019-20 & AT S9ehT T Il skl UMD
#

ERE| %. 10,00,000
R % 90,000
H.RA. (98 3194 =R ¥ & & ?) % 2,20,000

32 3R TEHER 3 10% daq 3R SLT &1 996 T & fau aem fwa

3B T 11,000 1 St a1 WfHad LI.C. 9Rd &l e fha
9. Satbir, Deepak and Mohit are partners in a firm (which fulfills the

conditions of Section 184) sharing profits and losses equally. The firm’s

Profit and Loss Account for the year ended 31st March 2019 showed net

profit of Rs. 2,44,000 after debiting, inter alia the following amounts:

(1) Salary of Rs. 4000 per month paid to Mohit.

(11) Rent of Rs. 19,000 paid to Satbir for the portion of the building
owned by Satbir in which firm’s office situated. The fair rental
value of the building is Rs. 10.000.

(111))  Interest on Capital paid @ 12% to Deepak, Satbir and Mohit
Rs. 12,000 each.

(iv)  Commission paid to Deepak Rs. 40,000.

(V) Expenses of current repairs of the business premises belonging to
Satbir, Rs. 1000.

(vi)  Donation to approved bodies Rs. 5,000 by cheque.

(vii)  Salary to Mohit’s daughter Rs. 72,000. Mohit’s daughter is a
qualified management graduate and was serving another concern
on Rs. 5,800 p.m.

The Net profit of Rs. 2,44,000 included Rs. 12,000 from interest on

Government Securities.

Compute total income of the firm for the Assessment Year 2019-20. 15

gaey, < 3R Wifed Th wH o WERR € (SO 184 1 vl ki QW
L B) AM ®Y W oH SN B WM w2 31 "™ 2019 i GHS
g o9 & fau wH & ow iR ' @| § T9d 244,000 1 TS AH

femmrn T (F=fafed & 2fae & 91%)

26349/K/276 3 P.T.O.



() 99 % 4000 ¥fq @€ Hifed &l Y

(i) ¥ 19,000 1 AT AR & @A a9 & e & fau

e &l e fowan 7=, od wH &1 e | on 9e| &

Sfd fertrn 7 & 10,000.
(i) U W= @ 12%, I, FaaR AR Aifgd &1 T 12,000 T
(iv) 9% S FHEE T 40,000.
(v) EqR 9 Gafyd a9 9RER &l 9a9E JEG & @4, € 1,000.
(vi)  oTqHIfRd f7epmll @l T % 5,000 <@ BN
(vii) Tifed &1 &S & a9 T 72,000 HiEgd &I 9 Tk AT FaEA
Tdh & 3R 5,800 TIF YA AE W IHA AT H HH G R
TS o9 F 244,000 § WHR glagfadl ™ s ¥ € 12,000 I0THA B
3TMehe ad 2019-20 & foq ®H 1 T/l ™ I TOAT B

26349/K/276 4



Roll No. ...cooceuuuerenccsnnnnnen. Total Pages : 2

BCQ/M21 26350
BUSINESS ENVIRONMENT
Paper—BC-605
Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

el el 991 o SR ST | 999 WEA 1 3Aferd 21 9 o1re ue 9 fend

o 9941 & S Sy

Compulsory Question ( faTd wyT)

l. Answer the following in brief: 4x5=20
71 o 3T Harw § ifg

(a) Discuss the concept of business environment.

ST e ITATeT hi STAYRON ahi fae=rT Sifsy|

(b) Whatis the importance of Environmental Scanning?

THTER0T ThHT 1 1 T &7

(c) Name four countries where mixed economy kind of economic system

1s adopted.

3 IR <IN & AW Idq8U Sg] i srefeaersell Yerr i fien soereen

TS St B
(d) Discuss the types of MNC:s.

SEUSI Al % GhRI T == i

(e) Differentiate between FERA and FEMA.

T SN HH & S S T HIfeT|
2. Define Strategic Advantage Profile (SAP). Prepare the SAP of any
organization about which you are aware. 15

26350/K/277/T P.T.O.



ek oY GrEEa (THUdt) i afiarfed oY) fedt ot geen o1 waud) Tum
5e® IR ¥ 3719 S 2

Whatis Joint Sector? Discuss the role of Joint Sectors in Indian Economy. 15

TIh &F 1 8?7 IR tdfematen H W e i gfaser @t fad=e
ifsq|

What is capitalist kind of economic system? What are its features? It is

relevant in present economic scenario? 15
gSiTel JehR <t fefer srareer 1 €2 S9! faeard = €2 98 i enfefe
uftged o yrEfies 872

“There 1s no more economic planning in India.” Elucidate. What are the

major reasons of failure of economic planning in India? 15

“ORd o 379 whis A A TR 21" TR | URd § eAfder e o

fThetdl o W@ HIROT =11 &2

“Make in India is promoting manufacturing in India while attracting MNCs

and Indian Entrepreneurs.” Explain the statement with examples. 15

“Ter 37 Zfea TgUST HulEl IR WRAT Sl bl SfeRftd wid g€ 9Rd 9

fafemior <l sreTen < w1 81" Seeul Wied He i el Hifsy|

Define Globalisation. Do you think that Indian business is moving towards

globalisation? Discuss in details. 15

SATYIHLOT SRl TR SHITSTTI ST SATTR! ORIl & Toh WRATS SAIR SIfYerehion shi
3N @ @1 &7 foream © == |

Discuss the major components of Competition Act. 15
giaeael AaH & @ =i S == S|

Who are the participants in Foreign Exchange Market? Explain. 15
fardelt 1 ek o AAfER ik 2 T9emET)

26350/K/277/T 2
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BCQ/M21 26351
RETAIL MANAGEMENT
Paper—BC-606(1)

Time allowed : 3 Hours Maximum Marks : 80

Note :

Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

el UTer T o STR ST | 999 HeA 1 Stferd €1 9w 31rs weAl o 9 fepeef

o 991 & S <IfSU)

Compulsory Question ( 3Tam wgT)

Write short notes on the following : 5x4=20
T W e g

(a) Environmental theory of Retail
fea & wrtervi fagr

(b) Situational Analysis
feerfa faero

() Merchandise Planning
AR TS

(d) Boutique Style Layout v/s Grid Layout
Ik Jielt deTse T g wetse

(e) Blue Printing Operations.
EGRISEIEARICIR]

“Retailing is transformational in nature.” Discuss this statement in the light

of current scenario of retailing in India. 15

“fdet IR gefd | IRadRI 21" 38 e 1 feel AR & Hisl qige
& HeH J == hi
Compare the features of Grid Layout, Spine Layout and Race Track Layout

with diagrams and examples each from India. 15

26351/K/278 P.T.O.



STl den Tesl wfga urd o e detse, 1 3% Tieise a1 T oiefse
St Torearat oht o il
4, Differentiate between Store Based and Non-store Based Retail

organisations. Explain any four forms of Store Based Retailing with
examples. 15

TR i TRfaT don TR-R fRfa o sfdt T Hifsu) @i snenfia fRfem

%! fh2l TR Tl ol IIEX0T Wigd U hifTg|

5. How can Information Technology provide security to the Retailer? Discuss
in detail. 15

AT WRNTTehT S i foh@ WehR Gfaen e T Tahd! 82 faeaRr & =re

hifeTl|
6. What is FDI in Retail. What are the advantages and disadvantages of FDI in
Retail in India. 15

U o et faceft o o1 22 9ra o Teu o foreh yoaer faw & one &R
BIf R B2

7. What is Customer Service? What types of problems do customer face in

Retail Stores? Describe some measures to improve Customer Service. 15

e ol o1 82 UESh ! TRU ©R ¥ T q@ o1 Faesti s ol T

ISl 2 UMeeh Wall i GURA & ToT o Guri o1 = sifsg)

8. Write a detailed note on Energy Management. 15
el JaEE T T fagga A fad|

9. Describe trends in Retailing in India. 15
IR H FRfT o T bl = it

26351/K/278 2
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BCQ/M21 26352
CORPORATE GOVERNANCE
Paper—BC-606
Option—(ii)
Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

el UTer 99 & ST ST | 939 Hem 1 stferd @1 9w 31re weAl o 9 fepee
=R Y91 & W i)

Compulsory Question ( 3@ wyT)

l. Explain the following : 5x4=20
FfARed st e i

(a) E-Governance
ERUCEL]

(b) Explain I[CRA.
[CRA &1 & ShifST|

() Who is an Independent Director?

@ 3T I BT 22

(d) What is meant by Business Ethics?
Sk Afcehal 1 o1 HeeTsl &7

(e) Discuss the need of Corporate Governance.
AR T i ST i =l il

2. What do you understand by ‘Corporate Governance’? Explain its relevance

in the developing economics? . 15

FMRE T O TR R ifqurg 2?2 faerrasiiar stefeuemenst § o

TRl Shi ST hi|

26352/K/279 P.T.O.



3. What are the different types of Credit Rating? Explain the process of Credit

Rating? 15
e T & YRR o IR H Fdd X S9hT Yfenan bl Sare hi?
4. Explain the various powers and duties of the Board of Directors. 15

HeTeTeh HUSd & fafi= atfuehrl 31X hdeal o1 oo i
5. Briefly explain the ICAI guidelines for Corporate Governance. 15
o9 | o794, 3T, (ICAI) & hiuie Tag & feen-fader =1 auia

6. Whatis ‘Insider Trading’? Explain SEBI guidelines on Insider Trading. 15
ITeRd SR 01 €2 Sueha SR W Falt & fon-feer st s &

7. What are Business Ethics? Discuss its role in Corporate Governance? 15

fa A~ fa A~ ~ d \
ST HTqehdl a1 & 2 SadIeh Afaehdl 1 hidRe o g o &1 T 7

8. Define the Social Responsibility of Business. Explain the responsibilities of
business towards different interested groups. 15

I & TSR SAUElacd sl aRefyg sifem) fafa= fequreni = 9fa

ST o HTHITSToh AU ol U il

9. Do you think ‘Whistle Blowing’ is morally correct? What kind of protection
do Whistle Blowing have in India? 15

1 feggel salizt ek €0 ¥ &t 22 9Rd § foegat sz & fou frg yer &t
HTAT TRET SIS 22

26352/K/279 2
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BCQ/M21 26364

SOCIAL NETWORKING AND DATA ANALYTICS

Paper—BC(VOC)-605

Time allowed : 3 Hours Maximum Marks : 80

Note :

Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

el UTer 99 & STR ST | 939 Hem 1 stferd @1 9w 31re weAl o 9 fepee

o Y91 & S Sy

Compulsory Question ( 3TFa= wgT)

Write short notes on the following : 4x5=20
Freferferd ax wfara feoquft fafer :

(a) Blogging SATTTT

(b) Data protection ST T

(c)  SQL TH. . T

(d)  Linearregression & gfer=

()  Timeseries. THY S|

Write an essay on social and ethical aspects of social networking. 15

oG o o N\~ Q ~ o ~ .
ST Sedeh T o HHTeh Ud Hifdeh Jeciall W T ey fae|

Privacy issues and security are a major concern for social networking.

Discuss. 15
GIeTel H2dfehTT 2 TA-TarT el Rl okl qe U TR a1 fawar 21 =it )
Write a detailed note on predictive analysis. 15

ANTH fagelvul W Teh foaegd or@ fore|

Social networking sites are a boon for sharing information. Do you agree? 15

gl & STSH-USH 2q Gl Heafh T E<H Tsh aigH &1 71 37 39 Hed 9
Heqd 272

26364/K/285 P.T.O.



6. What do you know about Big Data? 15

for 221 o T o emma o/ St €7
7. Write a detailed note on data visualization and statistical interpretation for
analytics. 15

PATITRT B S T80T Tel HieTeh 19 =1e W Ueh foqa o far|

8. Discuss the growth and development of Twitter, Linkedin and Instagram as
popular Social Networking Sites. 15
AR I HeTet Feafn A8l & di W fea, fdgest ud 3=eum & faem W
== R

0. What are the various business applications of Social Networking Sites? 15

GIeTel H2dfeh Tl WIged & fafi=1 sAraiiss Sua =1 872

26364/K/285 2
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BCQ/M21 26365
ENTERPRISE RESOURCE PLANNING
Paper-BC(VOC)-606
Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

el UTer 991 o SR ST | 997 He 1 etfard €)1 91w 3mre weel # o fopeef

(aW e

I Y91 & ST ISy

Compulsory Question ( 3TaTE Uy™)

1. Write notes on : 4x5=20
=1 o e fafe -
(a)  Origin of ERP ST =i St
(b) CRM ESispees
() DSS Sjlgsieps
(d) Information SCEl
(e)  Inventory. T =

2. What are the functions of Business Enterprise? 15
SE e 3T & h1d 2?2

3. Explain EIS. 15
SAETY i ] F|

4. Explain sales and distribution module of ERP. 15
FT & fashl TR faaRoT Afeset 1 = #1)

5. Explain, how ERPis used in Banks? 15

T Y T St O ERP &1 ST 9 e San 272

6. How ERP solution is implemented? 15
SR TAIEM 8 o] feran <irm 82

26365/K/286/T P.T.O.



7. Who are the different vendors for ERP solution? Explain main features of any

one. 15
ST Tt & T fafu= fasear a1 €2 fhdt wer & g o1 <1 gwse|
8. How finances are handled by ERP? 15

IR gRT fod &1 Yoo 9 T S 272

0. Why process re-engineering is needed? 15
g G-gShf=f o) strervahar i 872

26365/K/286/T 2
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BCQ/M21 26366
COMPUTER APPLICATION THEORY
Paper—-OMSP-BC(VOC)-605

Time allowed : 3 Hours Maximum Marks : 70

Note: Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions. All questions carry equal
marks.

sl UTer 991 o SR ST | 999 S 1 etferd €1 9w 31rs weAl ° 9 fepeet
R Y o SR A g gl & o a2

Compulsory Question ( 3TF&= WgT)
1. Attemptall questions : 2xT7=14
Gfl 9l Bl BA N
(1) Whatis role of primary memory to CPU?
CPU ¥ Wigwd AR shi 50 Jfifeht &2
(11) What type of data is stored in secondary memory of Computer.
T 1 Uhed FAN § fhT YR 1 22 W fohan S 21

(111)  Write acommand to create and deletion of directory in DOS.
DOS ¥ R M 3R %M & foiu T ware fod|

(iv)  What is difference between 32bit and 64 bit of windows operating
system.

e sirmfen fawey & 32 fae ik 64 fae & &= i 2

(v) Whatroles are of save and save as option in MS-Excel.
MS-Excel & 9 Tg Hd & fasheq & &9 | @21 yfirehrd 2|
(vi)  Whatisuse of rehearse timing in Power Point.

e e B Red i 1 1 39T 2

(vit)  Write a cat Linux command to create file and see the content of same
file.

Heed S 3R S EEA Hi G ki @M ® U he foey wue

fag|

26366/K/287/T P.T.O.



What are the applications of computer to business? 14

SIIETE % Ty R & STIA 1 8?2

What do you mean by primary memory and write its types and their
working. 14

e BE 9 3179 R HSd © 3R 39 YRR 3 3T Ry fafeu)

(a) Write a option to create multiple partition of hard disk in Windows

OS and change file system on existing partition of Hard-Disk.
foers oty o 7 feekr & Aeeiual URivH a1 3R gre-feer &

HiSET I R WTEe foed 95er o1 fasey fod|

(b) Write a step to change file permission (read only) and show the

hidden file in Windows OS. 14
T AN i ager & T Tk =101 fod (et ue & forn) @i
foe sTed o fodt g8 Wi fxem|

What are different options in print commands? Explain any four options
while giving print command. 14

fife Fmie § fafv= fasew a1 22 fic waie 0 999 =l 9r fased =1

AT hifelu|

What are the different types of printer and also explain their working in
detail. 14

e & fafa= YR =1 @ 2R 39k 74 ol off foear o gwemeu)

What is use of MS-Word and explain mail-merge option and formula option
in MS-Word. 14

MS-Word T ST F11 & 3R MS-Word H Hel-Tst fasheq 31X g fahed =i
AT HI

What do you mean by operating system and write its four functions for
computer. 14

SATRfen fore § o1 1 FHer & iR ot & foe sqent =R foran fafem)

Write steps to install Linux Operating system on Desktop and also write at
least 5 features of Linux OS. 14

STHeNT W forTer SiTfeT fimen Tonfyd @ & =11 fad o1 forermy sfiey st
wA W %H 5 favivan 9 fag)

26366/K/287/T 2
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BCQ/M21 26367
PROPERTY AND LIABILITY INSURANCE-II
Paper—PPI-BC(VOC)-605

Time allowed : 3 Hours Maximum Marks : 80

Note :

Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

H e T % SR IS | 997 Te 1 Aferd 219 31 yel | 9 foeg
USRS AR NI L

Compulsory Question ( 3Tam= wgT)

Explain the following short questions : 5x4=20
FAfefe o] 991 i e &Y

(a) Insurance problems of Clubs

FoTdl i SITHT THETT

(b) Errors and Omission Insurance

et 3T e <fm

(©) Loss Valuation

RENIECIR I

(d) Functions of Loss adjusters

TR GHESTh] & S

(e) Explain any two types of liability insurance policies available in
India.
IR | Suetsyl foheef < <ifarear e wiferfaai s61 aof 3
Explain insurance problems of Educational Institutions. 15
Sifereh TET T ST TEEAST ®t AT H

What do you understand by Professional Liability Insurance? Explain
Professional Liability Insurance providers in India. 15

9ieR S S| § o9 1 99 &2 9N § UveR e o et @

S hifSTd |

26367/K/288 P.T.O.



4. Explain the Marketing and Underwriting of liability insurance in India. 15
A § e s & faque iR ez iert ot sare w1

5. What do you understand by Insurance Claim Settlement? Explain various
documents required for Insurance Claim Settlement. 15

319 &frE7 e F9em o oo g9 22 oty <ren faer & fore stevess fafa=

AT 1 SRS Hi

6. Explain the following :

frefefed i ==men &1 ;

(1) Responsibilities of adjusters 8

qHEISTeR] 1 Tt

(11) Finance of liability insurance. 7

T ST <hT ol

7. Explain the requirement of the insured in the event of loss. 15

ThE ohi erfd H ST ¥R i STEvdehal i STEAT F
8. Explain the following :

frefefed i =men &1 ;

(1) Professional package contracts 8

N N
J3Te Uehsl 3T{aY

(11) Apportionment of loss. 7
RERIEICACECINACEISEL
9. What do you understand by statutory control over liability insurance in
India? Explain its main provisions. 15
IRA § Sifered s R defen R © S oo SuEd €7 39 e WEHl i
A |

26367/K/288 2
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BCQ/M21 26368
AGRICULTURE AND RURAL INSURANCE
Paper—PPI-BC(VOC)-606
Time allowed : 3 Hours Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

% drer 9 % S AN | g e 1 et @1 99 eme wel o
9 2l =R ge & W AU

Compulsory Question ( 3Tam wgT)

1. Write short notes on the following : 4x5 =20
frefafea w dfaa feooft fafer:

(a) Production Risk
3CUTRA SifE

(b) Comprehensive crop insurance scheme

Ik FESA ST S

() Weather based crop insurance

Eeicere it 15) | Ex e re )|

(d) Insurance of animals

ST hT ST

(e) Land and agricultural banks.

qfF IR Y I
2. What do you by mean Agricultural Insurance? Discuss the various types of
risks under Agricultural Insurance? 15

S S W IR BN Hded 2?7 K W & dgd S w fafae

<

JhT 9T Il hi?

3. What is Prime Minister Fasal Bima Yojana-2016, explain its features and
merits? 15

26368/K/289 P.T.O.



JUH HE ST ASFI-2016 1§, SHh! (aRarel o el o guie

hifSTT?

4. Explain about the National Agricultural Insurance Scheme (NAIS)? 15
T Y S\ T & IR H aarg?

5. What do you understand by Crop Insurance Underwriting? What are the
problems faced at the time of Crop Insurance? 15

FHA S BHISR § o GHEd €7 HHel Sl hid gy fh-fehe weeena

1 GEAT ST IET 87

6. What is Cattle Insurance Policy? Discuss loss assessment and settlement
of claims and loss minimization? 15

e S et A @2 JREH & S 9 @ & (9er 3R IHEH
I HH HH F AUE HL?

7. Write note on cattle wealth in Indian rural economy and valuation of
cattle. 8+7 =15

AR IO Aeferaen § 9o o HaAfEl o1 godishd W feou wifse?

8. What do you mean by Poultry Insurance? Discuss the advantages and
types of Poultry Insurance. 15

Tt oo S W ST A Y B2 Il uie Wk A o YRRl
U9 wifsT)

9. Write note on SHG’s - Training sales force and micro insurance? 15

SHG’s forsra Haela gftreror o gaw <t W e fafem)

26368/K/289 2
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BCQ/M21 26369
MANAGEMENT OF SALES FORCE-II
Paper—ASPSM-B.COM.(VOC)-605

Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

F e Al % I R | 9eT T 1 i 19 e we o 9 fRd

TR T & ST AT
Compulsory Question ( 3TFam wyT)

1. Explain the following in brief: 5x4=20
frefefed =1 dige =oi ifs
(a) Market Analysis TSR fagero
(b)  Uses of Sales Budget fasa el & oy
(c) Importance of framing sales territories T &= F&RoT 1 7o
(d)  TypesofSales Quota fahd HIe & TR
(e) Sales Force Management. EERENREESE]

2. What do you understand by Sales Planning? What is the process of Sales
Planning. Also explain its importance. 15
fershat foraiiei @ 319 = T €7 fosha et o6t wfshan o 21 55 wewd &
Ui |

3. Define Sales Budget. Explain the procedure of preparation of Sales
Budget. 15
forend arTe | oI AU = 2 T osie SO S okl GTehal 1 SHT&AT hifsTu|

4. Explain the meaning of Sales Territories. What factors are influencing the
allocation of Sales Territories? 15
fawma &7 fuior =t saren wifsu) fawa & fHuRon =t yafad =@ o T
1 FHEATST

26369/K/290 P.T.O.



3. Whatis Sales Quota? What factors determine the size of Sales Quota. 15
faeh! Fier § N MU 27 fohl Siel & TR &1 SH-%F § 7w Fuifa

HW T2
6. What is Sales Forecasting? Explain quantitative methods of Sales
Forecasting with their relative merits and demerits. 15

forepl 1 siferseraoft 9 e s1frgr 22 fasht wfersranoft st wifer fafes o1 31

ATT-8I11 9fed 9uiF Hifsa|

7. What is Sales and Cost Analysis. What are different methods of Sales and

Cost Analysis? Also explain its significance. 15
forshd W8 AN forgeiwol ford shed 21 forsha w8 oina fagaiwor = 1 fafuat
HF H 7?70 TEwd 1 ot Fui |

8. Discuss ethical issues involved in management of Sales Force. 15

forehdl il YaeH § Hfder a2l o fawa o samen sifsu)

0. What are guiding principles of fixation of Sales Quota? Also explain its
objectives. 15

fasha el & qeA fagra SH-sH 4 €2 fashl wia fufor & sewal o1 ot
Ui |

26369/K/290 2
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BCQ/M21 26370
SALES PROMOTION AND PUBLIC RELATION-II
Paper-ASPSM-BC(VOC)-606

Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

el el 991 o SR ST | 999 WEA 1 3tferd 21 9 e ue | 9 fend
R YAl & ST I
Compulsory Question ( @ wvT)
1. Attempt all question : 5x4=20
[ Y91 & S ST ¢
(a) What do you mean by Sale Promotion?
forsha g 9 eMdent o STfyT 272

(b) Whatis need of Public Relation?
S Gk 1 ATATARAT AT &2

() Explain the features of Publicity.
YR <t foreerat sl T o ?

(d) Is Advertising a waste?
1 Tt =7ef 22

(e) What is Social Responsibility?
TS ST 11 82

2. Whatis Sale Promotion? Explain its advantages and disadvantages? 15
fasa wgfg 3o 22 fasa wgfs & <y qen erfat 1 9o 312

3. What is importance of Personal Selling? Give the difference between
Personal Selling and Advertisement? 15

HAfoFTd Taehal o1 e el 11 & 2 SAfTd forsha 3T fasmo o o7t adrzu)

4. What do you mean by Public Relations? Explain the similarities of Publicity
and Public Relation? 15

26370/K/291 P.T.O.



SH TE 9 R VYR 87 S 9We 3R YER H GHAAR ol TR

hifSTT?

5. Explain the growing importance and role of marketing in Public
Relations. 15
SH-F0h | foquE it fiyent de 9ed U HE W i T hifSU|

6. Explain the various types of Sales Promotion. 15

forshal Tgfig o TRRI ol TI |

7. Explain the legal aspects of Sales Promotion and Public Relations. 15
ST g9k qer forsha Tyfg sl sl HROTE hi T8 |

8. What do you mean by Marketing? What are difference between marketing
and Advertisement? 15
famur @ - stfiya 82 famro ok fauoe o @21 e 272

9. Explain the objectives and limitation of Sales Promotions. 15

fasra Tgfs o 39T qen et ot T shifru)

26370/K/291 2
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OBCQ/M21 26371

MANAGEMENT ACCOUNTING
Paper—BC-601

Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions out of

remaining eight questions.

Fe UTe T % W A | 797 e 1 ferd
T W e el W R WW WA % SW
gife|

Compulsory Question ( 3™ 97 )

1. Attempt all questions: 5x4 =20

G4l g9l & 3T I

(a) What is meant by Cost Reductions?

T o S 9 o ST =2

26371/K/292 P.T.O.



(b) What is Responsibility Centre?

S s T 22

(c) Discuss any four functions of Management

Accounting.

N ¢

Je-¢h 3 TIEloh oh ohis IR h1d FdIsU]|

(d) Explain any four benefits of Performance
Budgeting.

[

oI a2 & his IR 1Y Fd1sU

(e) Give four limitation of absorption

costing.

ASINIUT AN ahi TR HHT TS0

2. Define Management Accounting. Discuss its role

and scope. 3+6+6=15
Yel-¥eh1d TIElchd hl TRWTHT S THeh! fHeRT T

&5 T U hifoTq|

3. What is Standard Costing. Differentiate it from
budgetary control . 5+10=15

26371/K/292 2



YA SNTd e Tty s 22 sl = 9
SHh! oI ShITSTT|

4. What do you mean by Cost Control? Discuss the
stepsinvolved in Cost Control. 5+10=15

T =0T § 3T9ehT 391 STFIYT &2 ST =0T

H ISTT S o1t heHl hi SHTEAT hi|

5. Explain the meaning of Marginal Costing. Discuss

1ts usefulness and limitations. 3+6+6=15

T ArT-fafy =1 21l 9usmEu) S9! U
qe THATST R U i

6. What 1s Budgetary Control and how 1is it
exercised? What precautions should be taken

while preparing the budget? 3+6+6=15
a5 TE=I1 o= 22 98 9 foRar Sl 227 eeie

S G99 - el Wt =nfee?

7. “Responsibility Accounting is an important device

for control.” Discuss. 15

26371/K/292 3 P.T.O.



"I TEiRT T R SRl HEweqUl
ST 21" foem wifs)

8. The following information relates a

manufacturing company :

Number of employees : 200

Weekly hours : 40

Standard wage rate : 50 paise per hour
Standard output : 250 units per hour.

During the first week of February, four empolyees
were paid @ 45 paise per hour and two employee
paid @ 55 paise per hour. The rest employees were
paid at standard rates. Idle time is one hour per
employee. Actual output was 10,250 units.

Calculate labour cost variance. 15

ot g wen ol smeo o wrefea @
HHATET sl G&AT : 200

g ¥ ; 40

26371/K/292 4



T BSIGd <X : 50 T9 Ui sue
THIY IS : 250 ThTE Gid =0

FER) % GUH e H 4 el i 45 99 H R
T A g 3R 2 HHAE 55 T H R G
I AR Sl JHY T G A g3 SRR I
gfa FEE 1 "ve @1 s SaRd 10,250

THTEAT | 9H AN Tor=ol 6T TTUMHT ST

9. Following information 1s available from the
record of acompany :
Year Sales (Rs.) Profit/Loss (Rs.)
I 5,00,000 2,000 (Loss)
II 7,00,000 2,000 (Profit)

Selling price is given Rs. 100 per unit.
Calculate:

(1) Fixed cost

(11)  Break-even pointsin units

26371/K/292 5 P.T.O.



(111) Salein units for desired profit of Rs. 28,000.

Teh T § T2 e fefeied ©

EL| fosha (Fw@) /RN (F9)
I 5,00,000 2,000 (BT)
I 7,00,000 2,000 ()
fasha goa 100 T3 i 3hE € |

UM hiTSIT

i)  TYI TR AN
(i) EH-foese uid geté

(i) 28,000 TYY Ifezd oW & fauw <= TS
TR

26371/K/292 6
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OBCQ/M21 26373
INCOME TAX-II
Paper—BC-603
Time allowed : 3 Hours Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory. Attempt any

four questions out of remaining eight questions.

Fel drer 9 % S AN | g "em 1 e @1 9 eme wer |
g fogl = el & 3w Sy

Compulsory Question ( &g wyT)

1. Attempt all questions. Answer should not be more than one page : 5x4=20

gt 9T T YA | TIE Y H SR TH g 9 oafuwm T e
SR

(a) Explain the deduction under section 80D of Income Tax Act.
AR AT HT 9 80D T HKdT Fl THATTY
(b) Write short note on return of income tax.
gy doy fied W et feooft fafem)
(©) Write a short note on advance payment of tax.
FH AW P | e § ford|
(d) Explain the functions of Central Board of Direct Tax.
Hald Gl L dIS % hAl hl AT H

(e) Write a short note on Commissioner (Appeals).
AT (M) W 379 fewoit fafau)
2. What are the provisions relating to deductions from GTI in respect of
donation under section 80G of the Income Tax Act? 15
ST STUMIH 1 9 80G & 8d IM & T&Y H Fohal gd o9 9

Fdr o T 9 gEe 2l

26373/K/293 P.T.O.



3. Describe the powers of Central Board of Direct Taxes and Assessing

Officer? 15
HET TAH FH A6 9 L UR0T AYRRT Y STwaA 1 F0F Hife|

4. Compute total income and tax payable for the assessment year
2018 to 19 : 15
(1) Taxable income from salary 3,50,000
(11) Short-term Capital Gains 12,000
(i11)  Long-term Capital Gain 40,000
(iv)  Bank interest on time deposits 10,000
(v) Lottery Income (Gross) 25,000
(vi)  Expenditure on medical treatment of a disabled dependent 15,000
(vil)  Investment in National Saving Certificate (VIII issue) 10,000
(viii)) Donation to Indira Gandhi Memorial Trust by cheque 25,000
(ix)  Contribution to Public Provident Fund 15,000
Y fafor a9 2018-19 & fau 7= g=amsti & YR W HHARl *i Hd
3T T < HT HI TUET HifS|
() AT Ia § I 3,50,000
(i) AUty gsit onv 12,000
(iii)  <refafy gsi oy 10,000
(iv) HEfy SH W b o 40,000
(v) el ¥ I (Fha) 25,000
(vi) U = enfya & fafeca ST=R WM =9 15,000
(vi)) UE F=d T (VI issue) | o9 10,000
(viii) <% g 351 MR AHifEd o= H gH 25,000
(ix) wEse qfasy g 3 arEH 15,000

5. What is “Best Judgment Assessment”? Under what circumstances it is

made by the assessing officer and also explains the remedies against Best
Judgment Assessment? 15

'S Sele STHOERHE’ B B U TR uRftefasl § e fruior sl g
fora ST @ 3R ‘A o sTeusne’ & favg SR 1 ot 9l &Y

26373/K/293 2



6. What is tax deducted at source? Give its importance. Briefly explain the
provisions relating to tax deducted at source? 15

YId T FH FIdt T ¢| THh] HEd THART Uid W L Frdt 9 Faf-d
EHl, 1 G849 ¥ gHEm|

7. A firm with A, B and C as equal Partners, furnished following information

for the previous year 2017-18 :
Profit from business 1,81,000
(after deducting the following amounts)
(1) Salary to A 9,000
(11) Interest paid for non-payment of sales tax 5,000
(i11))  Interest on Capital @12%

A 5,000

B 4,000

C 3,000 12,000
(iv)  Donation to approved institution by cheque 2,000
(v) Donation to a Research Association for 10,000

scientific research (Not debited to P&L A/c)
Other incomes

(a) Long-term capital gams 20,000
(b) Interest on securities (gross) 29,000
(©) Income from house property (computed) 14,000
(d) Dividends (gross) from Indian Companies 10,500

Compute the taxable income of the firm and allocate it amongst the
partners. The firm fulfils the conditions of sec. 184. 15

A, B3R C & ¥¥ ¥9F 9iEll & ®9 § TH FH {U9d o8 2017-18 &

o oo o

fau frefafea SHert @ gafs 21

MR ¥ a9
(fr=fafed 7t =l o & 9%) 1,81,000
(i) A g 9,000
(i)  Toepl T &1 PAaA 7 FE I A 741 =1 5,000
(i) T W= @ 12%

A 5,000

26373/K/293 3 P.T.O.



B 4,000

C 3,000 12,000
(iv) = gN STIHIGd FEIH i <M 2,000
(v) O eHYE % fou eTHu™ E9 &l T 10,000
(g B @d % fow efae T=)
T A ¢
(a)  <rEfafy oSt @w 20,000
(b)  wfagfaal | =< (Fhd) 29,000
(c) H&M Hufd ¥ 3T (computed) 14,000
(d)  ORAT HIA G AT (ThHA) 10,500

TH 1 F AT AT HI AT R AR U ANIER ® o= eAefed w HH
Y 184 T I HI T HLA T

8. Describe the different modes of Recovery of Tax? 15
Y ! el & fafw= gl =1 9o &
9. Discuss the provisions of Income Tax Act regarding penalties. 15

TS o Y U IR AMUTIH & FaaE W ==l wi

26373/K/293 4
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OBCQ/M21 26374

SECURITY MARKET OPERATIONS
Paper—BC-604

Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions from

remaining eight questions.

H UTe T % W A | 797 e 1 aferd
gl 99 ey o feel WW Al & SW
difsuy

Compulsory Question ( 3™ 9T )

1. Write short notes on the following: 5xX4 =20

1= W g e fog

()  Bull
derfear

26374/K/294 P.T.O.



(b) Derivative

g

(c) Euro Bond
PRI

(d) Bombay Stock Exchange

STl Weh T

(e) Primary Market.
EIIEEACIE IRy

2. Explain the role of National Stock Exchange in
the Indian Capital Market. Discuss its

organisation also. 10+5=15
Af¥ash Wik IR H 9IRAE gofl SR §
fFehT B2 39 TS i «ff = 4|

3. Explain the various methods of selling securities
in Primary Market. 15

Trerfhes SR | gfasfaar s=e ot fafa= fafet =
U |

26374/K/294 2



4, Write noteson: T%%xX2=15

= qR e o .

(1) Screen Based Trading
ThIH ST AR

(11) Internet Based Trading.
TS S S9N

5. Explain the benefits of listing of securities?
List the documents required for listing of

securities. 8+7=15
gfayfaal sl Yeftag HTH & |l w1 quH w2
wfaafaal & geieg = & fau SH-%E 9 99
=MET Bl 27

6. Explain the functions of NSDL. Discuss special

services being provided by NSDL. 10+5=15
NSDL &% &Mt 1 901 &l NSDL & SR Y& i
SIEEIRIREHEEEIC TG RET]

26374/K/294 3 P.T.O.



7. Who are the major players in Derivative Market?

What kind of risk they are exposed to? 10+5=15
= ISR | S-G9 foere! g 82 qen

3! foh e YehR & ST 1 HIHAT Shil ISl 872

8. Discuss some of the important modes of raising

funds from International Markets. 15
ST SIS | Yoil S[2M % A TIEAT i 9
i

9. Write notes on the following: 3X5=15
(1) ADRs
(1) GDRs
(i11) SWAP.

1 e fag .

i)  ADRs
(ii) GDRs
(i) 3Tl S<e|

26374/K/294 4
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OBCQ/M21 26389
COMPUTER APPLICATION (THEORY)
(PART-A)
Paper—BC (VOC)-605

Time allowed : 3 Hours Maximum Marks : 70

Note: Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions. All questions carry equal
marks.

el UTer T9A1 o SR ST | 997 He 1 etfard €)1 9w 3mre weel # o fopee
R I o TR 0 Gt 9o & 37 99 2

Compulsory Question ( 3TFa= WgT)

l. Attemptall question : 14
it gl BT FAE A
(1) State the various characteristics of the computer.
FH i Tt foroaret =1 et hifsu|
(i1)  Whatare the different components of a CPU?
CPU & fafer= =resh a1 22
(i11))  Write down the two features of RAM.
RAM %! T ferteard fafem)

(iv)  Whatdo youunderstand by Mobile Computing?
Hiesel S eafeT 9 319 I g &7

(v) What kind of various commands are available to manage files in
DOS?

DOS ¥ HTEe i Yaifd i o foau forg a® & fafva= saie Suasy
&2

(vi)  Explain the utility of MS-PowerPoint.
MS-PowerPoint s STHITTAT T Hifeq)

26389/K/306/T P.T.O.



2. What is the use of MS-Word? Explain the application areas of Word. 14
THUE- TS o ST 2 I o STYAN &3 1 AR |

3 What is the difference between primary memory and secondary memory?
Give examples for each of these. 14
YA UHRT S Yehed HE H 91 SR 22 S0 9 Yo o foTu €@l S
4. What is the difference between hard copy output device and soft-copy output
device? Write down the examples for each of them. 14

gTE il TSy fearsd 3 Gife-shidt eseqe feasd o o i 22 379 o

qcieh o fou Semeenr fafem)
5. What is the utility of following options in MS-Word : 14
MS-Word ¥ fefefed fasredl i @ suaifi @ :

(i)  Bookmarks IehHlh

(i)  Hyperlinks. ERNIGEN

6. Explain various features to perform text formatting in Word Processing
Package. 14
IS TG Yol o SR HIHET e o o fafa= fasioanst =t e #i|

7. What are different types of charts available in Spreadsheet? 14
eyl ¥ Suersy faf=1 gehR & =1 s ©°2

8. Write down the procedure to include a sound clip and picture in your
presentation. 14
1oty o eafq forera 3R o wnfiret s =6t wfepen fafem)

9. Draw the architecture and discuss at least three other different major features
of Disk Operating System and Linux Operating System. 14

TR deFeR T 3R feter sifmfen faeen 3k fomeg sifmifen faeg st a9
Y - 3= 9@ fergroansti 9 == |

26389/K/306/T 2
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OBCQ/M21 26391
OFFICE MANAGEMENT AND SECRETARIAL
PRACTICE (OMSP)
Paper—OMSP-BC(VOC)-605

Time allowed : 3 Hours Maximum Marks : 70

Note: Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions. All questions carry equal
marks.

el UTer T o ST’ SIfT | 999 HeA 1 Stferd €1 9w 31re weel o o fepee
TR Y % SR ) gl g & ek g €

Compulsory Question (& wyT)

1. Attempt all questions :
gt gl o I T ¢
(a) Types of Memory in Computer. 3
FPR H HARI & JhR|
(b) Features of Computer. 3
FH T TaRIoan|
(©) Formatting commands in Ms-Word. 2
THUE-IE § @& R
(d) How to draw table in Ms-Word? 2
THTH-9E H dae] Sl a1 ?
(e) Whatis a Macro? 2
Heh! T 22
€ How to add Animation in PPT? 2
W o wheE S e s 8?2
2. What are various Input and Output devices? Explain. 14

fafir= S92 31k 3MSeye feamd i 2 Tmemy
26391/K/307/T P.T.O.



(b)
4 (a)
(b)
5. (a)
(b)
6. (a)
(b)
7. (a)
(b)
8.  (a)
(b)

Magnetic Tape v/s Magnetic Disk. 7
e I U I Gaeh i feth |

Personal Computer v/s Laptop. 7
T @R oM S9er|

Explain Internal and External command in DOS. 7
9§ oTaiie 3R ded HHS H e i

Write the following commands : 7
frefafed s fog -
(1) To make a List of Directors and Files in DOS.

< H fAserent 3R el st gt S

(11) To create a Directory
Tk TR f3TeRt oM & fou

(111)  Tochange adirectory.

faf¥rent ager & ferul
Explain various components of Word Document Window. 7
o€ SlgHe foel & fafa= seehl =t =are #i
Explain Word Art and Clipart in Ms-Word. 7
- | 9 1 3R fHeruete i e #|
How to format a Worksheet? Explain. 7
AHINE 1 Y HIHS HL2 THLAS
How to create Charts in Ms-Excel. 7

THUY-Te § =18 g Q|
Describe features of Ms-Powerpoint and how we can create a
Presentation. 7

THUE-eRAiEe &1 fogivareti 1 oo & 3R 89 T W&ia &d o
o T

How we can add a Hyperlink and Clipart in PPT. 7
&9 Nl o eEmicis 3R foeraete 9 Sig T
What is DOS? Explain essential features of DOS. 7
STH 1 €7 ST 1 STevaeh foreroaiati s e &l
How to Copy, Move and Delete files in DOS. 7

< | ®Tgdl i Hidl, ga IR fecfie H8 wd

26391/K/307/T 2



0. (a) Explain structure of LINUS Operating System.
o STTaRfen ToRed ot |31 &1 A 1

(b) Explain who, pwd, s and mkdir commands in LINUX.
SRE 1-l|’v1/ho,pv1/a?, Is 3R mkdir FHIE 1 T Y|

26391/K/307/T 3
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OBCQ/M-21 26392
PROPERTY AND LIATRILITY INSURANCE-II
Paper—BC(Voc)-605
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory. Attempt
any four questions out of the remaining Eight questions. Rest questions
carry equal marks.

Fd urE Y ® SW AN v g 1 e 21 9w eme
gol ¥ HE WX gY HIFTU WY YEE o 3 gHE Bl
1. Explain the following upto one page : 5x4=20
frafafed &1 =amen @ g o &g

(a) Professional prackage contracts.

NN AN b
RIS Yehsl Shl

(b) Errors and Omissions Insurance.

et IR g% «fim

(c) Limits on amount of Insurance.
SHT e ekl HrE

(d) Finance of Liability Insurance.
i a1 fom

(e) Functions of Loss adjusters.

g9 HHMISIRT & |

2. Explain the Insurance problems of Hospitals and Clubs. 15
STl R Fordl Wl SHT GEENST @ A it
3. Explain the following : 8+7=15

fefafed &1 = &g

(a) Professional Liability Insurance.

eI facd HT|

26392/K/534 P.T. O.



(b) Accountants Liability Insurance.

ECIEARVE E AR e BRI

4. Explain the Marketing and Underwriting of Liability Insurance. 15
i i & faqoM iR eEieryefewEen % =men sty

5. Explain the nature of Losses. Also, explain the procesure for adjustment of
Losses. 15

B/ i Yhid i SATEA hifaW| B & HEMENSH i Glhar i
et i)

6. Explain the following : 8+7=15
fefafed 1 = &g
(a) Responsibilities of Loss adjusters.
I HHEShl &l eIt
(b) Survey of Losses.
THEH w1 Ha &0

7. Explain the precedure of Claim settlement. What are the various documents
used in Claim settlement? 15

Tl f9em &1 gferar &t =renm sifswl @ fAiedm § swEm ey
M o fafa= < w e?

8.  What do you understand by Statutory Control over Liability Insurance in

India? Explain its main provisions. 15

IR § e o W e R0 9 e o wwEd €7 36 g
YEU i SOl hifSiq|

9. What is meant by Liability Insurance? Explain various types of Liability
Insurance Policies available in India. 15

T T 9 R YR 27 9Rd § SYesy fafye YR 1 <
T aifeAfraess sl ST Shifsia|

26392/K/534 2
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OBCQ/M21 26393

GROUP INSURANCE AND RETIREMENT BENEFIT

SCHEME-II
Paper—PPI BC(VOC)-606

Time allowed : 3 Hours Maximum Marks : 80

Note :

Attempt five questions in all. Question No. 1 is compulsory. Attempt any
four questions out of remaining eight questions.

el Ui Y9 & STR ST | 939 Hem 1 stferd @)1 9w 31re weel o 9 fepee
=R LAl o 3T JIeT)

Compulsory Question ( 3Tam™ w9)

Write a short notes on the following : 5x4=20
frfafea R fewforar fafe

(a)  Statutory Provident Fund Sy wfers iy

(b)  Significance of Pension Scheme UM ASHI 1 HE<

(c)  LeaveEncashment ! % F_al YA

(d) Group Schemes of Insurance qrfeeh o IS

()  DataProcessing. ST Tt

What is Group Insurance? What are its advantages? Explain some of them
briefly. 15

ek ST 1 T 7 T N AN T2 ITH U HD ATk ST Aeret w1 geT
T guiq sifsa|

Whatis Recognised Provident Fund? Explain its features and benefits. 15
T e Aferes ffyr 9o 22 st foeroareti wd @i oA

Explain the provisions of Income Tax regarding Entertainment Allowance

and House Rent Allowance. 15
TARSH 91 T 8139 32 (FRuan 9a1) 3emsd & IR § e & gra9ml &l

HHLARTI

26393/K/308 P.T.O.



S. Explain the following : 15

METAREd ohi ST HiTSTT
(a) Monthly Pension and Commuted Pension
ek Y3 T THTd UvH

(b) Taxation Treatment for Retirement Benefits.

ferde g & fou e ST=r|

6. Explain the terms Voluntary Retirement and also explain the conditions and
procedures to calculate the sum amount. 15

e Yefgi ¥es i SATedl i TE AT TRT 1 T w3 & foe vl o
skt st e i
7. What is Employee Deposit Linked Insurance Scheme? Explain its features

and also explain Employee Deposit Linked Scheme Amendments, 2018. 15
FHER ST feere &tH1 AT = 22 TEe! fagivarst & ar § &die v sheer)

STH1 fefere |eMeH 2018 sl Hf T Y|
8. What do you mean by Gratuity? Explain the different types of Gratuity

Schemes and how the sums are calculated under these schemes? 15
U=l o1 o Haos €2 fafq= YR &1 I=g dsietl i s e
ISt o dEd T i TOMT hd i STt 82

9. What are the Pension Plans? Describe the latest Pension Plans. Explain the
National Pension Scheme (NPS). 15
G ST o1 B 2 el U9 FSr1et! st ool Y| Teeig UeE FisH (NPS)
1 AT |

26393/K/308 2
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GBCQ/JL-21 26443
BUSINESS ENVIRONMENT-II
Paper—BC—-604

Time Allowed : 3 Hours] [Maximum Marks : 80

Note

(O8]

(i)

(i)

(iii)

(iv)

)

(vi)

: Attempt five questions in all. Question No. 1 is compulsory. You are

required to attempt four questions from the remaining eight questions.
wel U el % S <ifeul gy "em 1 sfed 21 9w s
gt 7 ® f@ Wm o swm S

Compulsory Question ( 3tfqard w9a)

Explain SWOT as a technique of analyzing Business environment.

SWOT & =AEWaF a[eRe & fovaoo & addie & &9 |
HAAET?

Give maintencances of high Capital output ratio in India.

AN H 39 Usll SURA STUM & HEU hl Sasul

Give three causes of unfavourable balance of Payment in India.

IR § JaF 9ged & Ufded 8 % §F RO Faeg)

Give remedial solution to the problem of Regional inequalities in
India.

ARG H & STEHHAE ® THEN G IUENHE HHIEM  §dEd|
What are the objectives of Special Economic zones?

fasin onféer &ef & SevE = @2

Is free Privatization is possible in India? Explain.

N YRGB g i g99 27 =men it 6x4=24

Explain the role of SEBI in protecting the Interest of Investors. What are
the limitations of SEBI?

el & fedl w1 w1 o @ell w1 iR w1 sArEA HISC Het
il @ 27
Examine the New Monetary Policy of RBI.

AT H T Hfgew Afq w1 = Hirwl

26443/K/958 P.T. O.



4.  What is “Proverty Line” in India? Mention the main causes of Poverty in
India. Also explain the steps taken by the Government to eradicate poverty
in India.

qRd § ‘T W F 27 9 H feRa % ugm wnel @ Seod
FHIVE| 9IRd H T 39eA & U SR W 33T T A
Hl =ae wift)

5. What do you mean by Business Environment? Explain the various components
of Business Environment.

e dae ¥ 9 = GHAd §7 AEde wen & fate=

TChi hi ARl hifSd|

6. Critically examine the New Industrial Policy.
T 3TN Afd w1 FEEAER e wifs)

7. Industrial Sickness has badly affected our Industrial Sector. Suggest some
measures to overcome this problem.

sfrEifirer e 3 gAR SfEfies e g0 wE wdted fRen 1T
T Al P R & U H/S 39 YR

8. What is WTO (World Trade Organisation)? What are its objectives? How
will you justifly its membership for India?
fova =R |UST N 27 THS I2¥A H 27 Y WRA H fOW THeh!
IEd ) $y 3fud SsuE?

9. What are the aims of International Monetary Fund? How does it help a
country having Adverse balance of payment?

HAUE a1 W H Ied N 27 TS Widehe P Gger ol 29
HI W HH HE B2

26443/K/958 2
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OBCQ/D-20 26140
COMPUTER AIDED DESIGN
BC-505
Time : Three Hours] [Maximum Marks : 60

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
A T Y H S LR | W Hewn 1 e
1wt T % % TR ?

1. (a) Define ICG and Non-ICG

ICG T TR-ICG =i wRefyg i |

(b) Write two input and two output devices used in
Graphics.
TR H WIS I TS T T SNSIYe feamEd
foferm |

(c) What is random Scan ? Write device based on it.
WeH @ F T ? T W enuifid feamw fafew |

(d) Differentiate VGA and SVGA monitors.
VGA 1 SVGA #ifiell ¥ =R hiferg |

(e) Discuss working principle of Touch sensitive screen

devices.
= THifed @A feamdl & wEer fagidl

U HifST |

(2)L-26140 1




(f) What is hand-held scanner, name any one.

T H WhR F ¢ 7 REl TH H A9 GdRy |

2. Define Graphics. Explain basics of graphics and output

Primitives.
e st giRern ST | Wit den 3fkeye Wifhfesq
& SR R 99 HIfWC |

3. Explain the following :

(a) Graphics Monitors

(b) Write various steps involved in Bresenham's Line
Drawing algorithm. Explain with suitable example.

Trefafed =t =are s

(31) Wiperd AR

(9) oETeH & oEd ST uenien § ffed weAl o
ol wIfe | we @ 3fud 3w e |

4. Take a 2D picture and explain concept of Transformations
with matrix form.
2D fieer iy &R Afcsm ®iH & WY W i
HAGRN hl AT IS |

S. Discuss four features of CAD. Also define hardware used
in ACAD.
CAD &1 =R favoad sa=t | ACAD § I gRaa i
ol gRefa =ifsy |

(2)L-26140 2



6. Explain the following commands with example :
(i) Move and Copy
(i) Circle and Ellipse
(i) Extend and Fillet.
3R wfed Ffafea wamsl =1 9o wifs
() F9 @R w0
(i) @fee @R wfaw

(i) TS R free |

7. Using ACAD explain the following :

(a) ARRAY
(b) DONUT
(c) PAN

(d) DRAW
(e) XLINE
() HATCH.

nes

ACAD &1 WM & gC Ffafed st =amed &ifve
(31) ARRAY
(¥) DONUT
(9) PAN

(7)) DRAW
(3) XLINE
(%) HATCH

(2)L-26140 3



8. Write notes on the following :
(a) Applications of ACAD
(b) Applications of GRAPHICS in Education.
Frefafen w fewfmat fafem .

(31) ACAD & STI¥am
() foen & Wi & ST |

9. Explain use of Graphics in Computer Aided Manufacturing
and Computer Aided Learning.
FIER el g fafmin ek wrel gerad ww it
o wieee & YAM 1 99 HIGT |

(2)L-26140 4
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OBCE/M-21 26274

ADVANCED FINANCIAL ACCOUNTING
Paper-BC-201

Time : Three Hours] [Maximum Marks : 80

Note :

Question No. 1 comprising of five short types questions
carrying four (4) marks each is compulsory. Answer to
each question should not be more than one page. Attempt
four questions from the remaining eight questions carrying
15 marks each.

T wEem | efed ® fed uier oY TR % W
U €, ey W 4 i w1 T UhE U
SR Tk T ¥ fusws @O =fewl 9w \w W
T9 L A6 U H ¥ wiC 59w 5&® W1 15
Ik A Rl

1. Explain/answer the following questions in short :

(a)
(b)

(c)
(d)
(e)

What is a wholesale branch?

Give any six differences between-hire purchase and

instalment payment system.
Explain partnership deed.
What is a revaluation account?

Write three circumstances under which a firm is
dissolved.

26274//KD/471/Trans. [P.T.O.



Frfafed s 1 =resw g9ad ° i

(%) oI IR F T2

(@) forn EliE o fhe gae gomelt & s wiE
R S|

() WA T AT HIfST)

(1) QIS T B2

() T € uRfRefE fofan fos s T wH
forsres B 21

2.  What is hire-purchase system? State its characteristics.
Differentiate between hire-purchase system and credit sale.

oo @l gumel F 27 U] favivae sdeul R
Tle et R wfee famt & 99 =R wifsm

3.  What is Goodwill? What is the need of its valuation? Explain
different methods of valuation of goodwill with illustrations.
U@ 8?7 T GAIH hl A ARl 87 W@ &
TR &1 fafa= fafvel 1 3R & WY e w1l

4. What is meant by dissolution of partnership firm? Explain
the accounting procedure regarding dissolution of partnership
firm.

TR wE ® fawed w1 w oo 7 WERd wd &
faoed & dHey o oiEied ufshar & sren i

26274//KD/471 2



5. What journal entries are made in the books of the head office
to incorporate the trial balance of an independent branch?

WA U % I S| Bl IMHA @ faw que
HEA H GEH W hiA-E SHol iefedi &1 S el

6. Raja Limited with its head office at Mumbai invoiced goods
to its branch at Delhi at 20% less than the list price which is
cost plus 100% with instructions that cash sales were to be
made at invoice price and credit sales at catalogue price (i.e.
list price). Some stock of the branch is destroyed by fire
arid it was uninsured.

Amount (Rs)
Stock at invoice price 01-04-2015 16,000
Goods received from head office 60,000
Debtors 01-04-2015 5,000
Sales :
Cash Sales 20,000
Credit Sales 55,000
Cash received from Debtors 40,000
Expenses paid 8,000
Discount allowed to Debtors 1,000
Stock 31-03-2016 at invoice price 7,000
Cash remitted by Branch 50,000

From the above particulars, prepare the necessary accounts
of the branch for the year ending 31st March, 2016.

Ton fafee 4 g8 & oW WuW FEed ¥ oot o
SO I R G ged ¥ 20% ®H W A H AEH

26274//KD/471 3 [P.T.O.



9o, S fF A w™ 100% § W few &% @ fw
T eI R TS [T IR Heam g W oHfee
skl st ST ot (I = g W) | M@ k1 /D Lk
A W T F W ¢ FAgeRr i A& gan e

™ (%)
TAH eI W EIH 01-04-2015 16,000
BEICH °h|¢|i('1¢| @ Al HIHIH 60,000
IR 01-04-2015 5,000
forept

e foreht 20,000

wice famt 55,000
I|E W WD TR 40,000
TR H A 8,000
IR H TS HI AN 1,000
TAH oI W EIh 31-03-2016 7,000
Riice )| Bt S B G 50,000

7. X purchased seven trucks on hire-purchase system on
01-07-2010. The cash price of each truck was
Rs. 5,00,000. He was to pay 20% of the cash price at the
time of delivery and the balance in five half-yearly
instalments starting from 31-12-2010 with interest @ 5% per
annum. On X's failure to pay the instalments due on 30-06-
2011 it was agreed that X would return 3 trucks to the Vendor
and remaining 4 would be retained by him. The vendor
agreed to allow him a credit for the amount paid against

26274//KD/471 4



these 3 trucks less 25%. Show the relevant accounts in the
books of X assuming that his books are closed in June every
year and depreciation @ 20% is charged on trucks.

X ¥ 1-07-2010 S foernm @l gomell W 7 & S|
Y% <R 1 ARS Hed 500000 T el 39 feded &
Tmg TS Tod Rl 20% SR 31-12-2010 ¥ Y& TH
Tt de aiffs fRedl & siw wfr W 5% wfa o =
H W G PEAH RET AN 30-6-2011 I 39 fheal
THAE FH § %A g1 W X & 9y fagar #1 geafa
& % 98 3 o dlemm @R WY 4 e ww @
foshdl 7 31 3 Tl & fAU 25% W A WM I TR
TfT & fou wfee &1 ogmfa W W wewld =& &1 X
H gl § W @ ey 98 "ed gu fe sHen
T YAE 99 S A §< el 9§ 9o TR W 20%
‘i(’*‘lm NUISIES N %|

B and M are partners sharing profit and losses in the ratio of
2: 1. It is agreed that B should retire and his son L should
join M in partnership and should be entitled to 1/3rd profits
of the firm.

The balance in the books of B and M were as follows :

Liabilities Rs | Assets Rs
Sundry Creditors 8,000 | Land and Building 50,000
Bank Overdraft 13,000 | Furniture 7,000
Capital Accounts: Stock 9,000
B 38,000 | Sundry debtors 12,000
M 19,000
78,000 78,000
26274//KD/471 5 [P.T.O.



For the purpose of B's retirement and L's admission the assets
of the firm were revalued as under : Land & Building
Rs. 65,000; Furniture Rs. 5,500; Stock Rs. 8,500 & Sundry
Debtors Rs. 10,000. Goodwill was valued at Rs. 10,000.
Other terms agreed were that enough money should be
introduced to enable B to be paid out and leave Rs. 5,000
for working capital after paying off bank overdraft and that
M and L should respectively provide such sums as would
make their capitals proportionate to their shares of profit. B
agreed to make his son L a gift by transfer from his capital
account of half the amount which L had to provide. Set out
the necessary journal entries in the books of the firm and
prepare new balance sheet.

B 3N M WERR € St oW iR ' & 2:1 & U
¥ wicd €1 T8 Wedfd g fF B # Faltga S
TEY AR 3G 9 L B M & |9 GERA § I S
wfeq 3R 4 & 1/3 % * HIR M1 =ieul

B M & Y o 99 URT 3@ YR off

IRAr T, | gufd %.
fafay ofeR 8,000 | 9fF @R 50,000
EClc e 13,000 | ®i=R 7,000
ISt @ wih 9,000
B 38,000 | fafasr 3_R 12,000

M 19,000
78,000 78,000

B®! TG IR L % YO0 & WA & fAu v w1 gulg

1 eI PR &R T o ¢ iy iR 9e 65,000 .
TR 5,500 % Wi 8,500 % SR fafad IR 10,000 %

26274//KD/471 6



@ 1 ged 10,000 T W Al 3T ¥ R HeAfd of fF B
F PAH L H G 1H & ¢ 92 o7 99 fohan S
MEY AR S NG 1 PHAH A & o5 A goit
% foT 5,000 % B T 9H =1fET Ik M IR L 1 %o
TH! Y YRH HE AeT g ST S 3 o & IRl
% STUE § B B 3T SR L H STER 31 & fau oot oSh
@ | S R A TR HH & fAC wend 8 W S L
I TS HIAT 91 HH H TR B SEwAS JsHre=n Hafear
fafgu &R 0 qer-T =R

The balance sheet of X, Y and Z, at the date of dissolution
was as follows :

Liabilities Rs. | Assets Rs.
Creditors 40,000] Cash at Bank 5,000
Employee's Savings Bank | 20,000 Debtors 32,000
Outstanding Expenses 10,000 Stock 42,000
Loan from Z 5,000( Prepaid Expenses 2,000
Capitals: Furniture 10,000
X 80,000 Machinery 84,000
Z 55,000] Capital A/c'Y' 20,000
Advertisement
Suspense A/c 15,000
2,10,000 2,10,000

Z was appointed to realise the assets and pay the liabilities.
He was entitled to receive 5% commission on the amounts
finally paid to other partners capital. He was also to bear the
expenses of realisation. Asset realised as follows :

Debtors Rs. 20,000; Stock at 60% of its book value; Furniture
Rs. 7,500; Machinery Rs. 70,000. Expenses realisation
amounted to Rs 1,500.

26274//KD/471 7 [P.T.O.



An office typewriter, not shown in the books of accounts,
realised for Rs. 2,500. There was a contingent liability for
Rs. 5,000 for bills discounted for which Rs. 2,000 had to be
paid. Y was declared insolvent and only Rs. 11,600 were
recovered from his private estate. Prepare necessary accounts.

fameT @t faf W X, Y 3R Z 1 qo-19 39 YRR o :

cerre %. 9qrd T,
Eatereci 40,000 s H THE 5,000
FHAA 71 d=9d 9% 20,000 AR 32,000
THE TS 10,000 =i 42,000
79 HO 5,000 9UE @©F 2,000
TSt TR 10,000
X 80,000 T 84,000
z 55,000 IS @'Y 20,000
foqmos 3=dt @ 15,000

2,10,000 2,10,000

Z 1 U 1 TG 3R A 1 T HA % fore Fge
e TN ol T o WERH S g 1 SifaH €9 | A
T TS TR TR 5% FHHIE T T 1 ThaR o1 3T TG
T St 98T FEN o1 Fuld R agel A T

TTRIRET 20,000 %., THF TN T & 60% R ©Ih; HAR
7,500 ., WL 70,000 %, =T i a9l eI 1500 & i
T S TEWER, | @l &1 fhaa o 781 f<@mn @,
2,500 % H aga R Tm 22 gu fael & faw 5,000 € &
SRR AR off TS feT 2,000 €. =T SAM T 9
ol Y i e =i & fam o o) st freflt wafa @
Faa 11,600 % TgA AT T AGTIFH GH TR H

26274//KD/471 8
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OBCE/M-21 26276

BUSINESS ENVRIONMENT
Paper-BC-203

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory.

AT ;. H uie YA 1 SR AN ge gen 1 stfeEd ©

1. Compulsory Question ( AfEE °9T)

(a)
(b)
(c)
(d)
(e)

What do you mean by Micro Environment ?
Define Environmental analysis.

Explain the objectives of WTO.

Define Privatisation.

Write components of Fiscal Policy. (5%x4=20)

(%) GeH aEERE § A9 F OTHI 87
(@) araeRer fageror w1 gRefya i
(M) WTO & &2l 1 v
(7) ffserro 1 aReafim ifsw
(¥) ToeEE Hifd & e foagl

26276//KD/437 [P.T.O.



What do you mean by business environment ? Discuss the

various components of business environment. 15

FEHIE aaE ¥ Ul N SIUR §7 SHEwius
ey & fafa= wewl ®1 avE Fl|

Discuss Economic planning and explain the objectives of
planning in India Relating them to five year plans. 15

affes A ot fag=r wifsle den wRa H Y=adiy
I & "W H AN & dsT TR i

What do you understand by the term Monetary Policy ? What
are the measures adopted by the Reserve Bank to control
credit ? 15

o Aifd ¥ oMy w e €2 ®u w fEhE e ®
fau ardig fisd d% 3 @ suE w2

Discuss the need for Foreign Investment. What are the
different types of Foreign Investments with reference to
India ? 15

forsft frowr =1 s sravIRdl 82 9RG & Ged o faryft
a9 fFm TR B ©7

Explain the provisions of the New Industrial Policy with
regard to licensing. 15

RN ® e 4 9 sl |Aifq & et o 9ol
el

26276//KD/437 2



7. What are the functions of World Bank ? Discuss the role of
World Bank in the economic development of India. 15

fava d% & &@ F1 T2 9@ & Afw faEm | fava
% H AR AR
8. Explain the achievements and failures of UNCTAD. 15

UNCTAD I Il qem STH%eIdiell i e il

9. What is meant by Privatisation ? What is its relevance in the
present context of India ? 15

fafsreor w1 w0 o1 27 ORd oredfsERen & gdEH
Hed § TO® w1 WEw B2

26276//KD/437 3
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OBCE/M-21 26277

ORGANISATIONAL BEHAVIOUR
Paper-BC-204

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt five questions in all. Question No. 1 is compulsory
comprising short answer questions of 4 marks each.
Attempt four more questions from remaining eight
questions carrying 15 marks each.

Fd UE WA % S AT W gen 1 et R
% o W 4 3Rl 1 T OUW IS WA H ¥ R
T SR FINU TEE T 15 HF H L

1. Compulsory Question ( 3 ard wy)

Write short answer :

(a)
(b)
(©)

State any four differences between HR and OB.
What is ‘Halo Effect’” ?

What are the Phychological Symptoms of stress ?

(d) What are Crossed Transaction ? Give example.
(e) What is Organisational Health ? (5%x4=20)
Hfg 3w T

(%) HR 92 OB H %3 ¥R 3R FaET

(@) I9HEd U9E 27

() TaE § HHe-Ts Ao # 2?

26277//KD/533 [P.T.O.



(9) Uftehet STEER M B 87 SSE e
(T) HeTcTs WRed 1 7

Define Organisational behaviour. Explain its characteristics.
15

ISATHS aeR i uRenfyd SIS sEent faviware &
U Hiferg|

Explain the factors influencing the development of
personality. 15

facd & faw@ & gafod @ o SRl w1 oavFE
Hiferq|

What is Perception ? Explain the Importance of perception
in management. (5,10)

S T 2?7 YU T oY % Ue T dUF RIS

What is stress ? Tell the features of stress. What is the

relationship between level of performance and stress ?
(2,8,5)

TaE 1 B2 <A@ hi faivad SRt e ®R
9 gae B oo we R

What is Learning ? Explain various theories of Learning.
Explain in detail. (5,10)

e w77 ded w1 fafas faemumd w7 fawr
gfeqd guzEu|

26277//KD/533 2



7. What do you understand by Group Cohesiveness ? What
are its consequences ? (5,10)

TgE O W Y o GHE ©2 THe URomH s €7

8. What do you mean by Life Positions ? Explain the various
Life Positions. (5,10)

St feafd @ o9 o wHem 87 fafis Sfem feefyai
w1 I Hifeg)

9. Define organisational culture. Explain the roles of culture in
an organisation. (5,10)

SIS TEhfq i IR FIST T TTe ° Gohfa
Fi qfieptst @1 v HIfT

26277//KD/533 3
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Time : Three Hours]

OBCE/M-21 26278

BUSINESS MATHEMATICS-1I
Paper—BC-205

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

1.

2.

compulsory.

Compulsory Question

(a)

(b)

(©)

(d)

(e

(a)

Find the compound interest on Rs. 2,400 for 2 years at
4% per annum. 4

Find the amount of an ordinary annuity of 12 monthly

payments of Rs. 1,000 that earn an interest at 12% per

year compounded monthly. [Given (1.0DH!2 = 1.127]
4

Find the local maximum and local minimum values of
the function : f{x) = x3 — 6x% + 9x + 7. 4
Find the dual of the following LPP :
Minimize Z = 3x + Sy
Subject to the constraints
3x+2y26,4x+y=24,14x+6y=25x=20,y=0.

4

The demand law for a commodity is p = 20 — 2x. Find
the consumer surplus when x = 4. 4

Find the absolute maximum and absolute minimum
values of the function fix) = 3x* — 2x3 — 6x% + 6x + 1
on the interval [0, 2]. TVa

26278//KD/691 [P.T.O.



(b) A manufacturer can sell petrol operated x items at a

X
price of Rs. (5 _E) each. The cost price of petrol

X
operated x items is Rs. 5 +500 | Find the number of

items he should sell to earn maximum profit. T2

3. Solve the following linear programming problem graphically :
Minimize Z = 2x + 3y
Subject to constraints

x+y<4,3x+y24, x+5y24,x<3,y<3;x,y20.
15

4. A manufacturer produces two products ‘A’ and ‘B’. Both
the products are processed on two different machines. The
available capacity of the first machine is 12 hrs and that of
the second machine is 9 hrs. Each unit of product ‘A’ requires
3 hrs on both machines and each unit of product ‘B’ requires
2 hrs on first machine and 1 hr on the second machine.
Each unit of product ‘A’ is sold at a profit of ¥ 5 and ‘B’ at
a profit of ¥ 6. Find the production level for maximum profit
graphically. 15

5. Solve the following LPP by Simplex Method :
Maximize Z = 2x + 4y
Subject to the constraints

2x +3y <48, x+3y <42, x+y<21,x=20,y =2 0. 15

26278//KD/691 2



6. (a)
(b)
7. (a)
(b)
8. (a)
(b)

A sum of money invested at compound interest amounts
to ¥ 2,200 in one year and to ¥ 2,662 in three years.
Find the principal and the rate percent. T2

A machine depreciates at the rate of 10% of its value at
the beginning of the year. The machine was purchased
for ¥ 10,000 and the scrap value realized when sold
was ¥ 3,855. Find how many years the machine was
used for ? 7Y%

Find the present value of an annuity due of I 1,000
per annum for 14 years allowing interest at 9% per

annum. TV

A person has set up a sinking fund in order to have
T 1,00,000 after 10 years for his children's college
education. How much amount should be set aside bi-
annually into an account paying 5% per annum

compounded half yearly. T2

Find the consumer's surplus and producer's surplus

under pure competition for demand function

8 . 1
Py = —2 and supply function Ps =7 (x+3),
x+1 2
where p is price and x is the quantity. T2

Using integration, find the area of the region bounded
by the line 2y = —x + 8, x-axis, and the lines x = 2 and
x = 4. 772

26278//KD/691 3 [P.T.O.



9. For a two-sector economy with production sectors I and II,
the intersectoral demand and final demand are as follows :

Producing Receiving Final
Sector Sector Demand
I I
I 176 308 150
I 352 102 200

(i) Find the total output of Sectors I and II.
(i) Find the technical coefficients.

(iii) Find the matrix of technical coefficients.
(iv) Find the Leontief matrix.

(v) Verify Simons-Hawkins conditions for the viability of
the system. 15

26278//KD/691 4
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OBCE/M-21 26279

IT AND E-COMMERCE
Paper-BC-206

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

AT ;. Hd U gl % SR AN TeE g 1 osfEd 2

1. Compulsory Question ( 3TFET W)
(a) Write note on Intra organizational communication.
(b) Write 4 applications of internet in e-commerce.
(c) Abbreviate C2C, EDI, DSS, MIS.

(d) Name rwo social networking sites and two search
engines.

(e) Write note about m-commerce. (4x5=20)
() Sid: HTSTHE: HIT W TH A fafey)

(@) E FME H feEe ® 4 ogwEm fafau)

() gui ®9 faf@q : C2C, EDI, DSS, MIS.

() T Yot S @ @ o S % AW
AT

(¥) W-&Ad & IR ¥ e fafau)

26279//KD/1429/Trans. [P.T.O.



(a) Define terms Data, information and computer based
information system.

(b) What is concept of Out-Sourcing ? Explain knowledge
process outsourcing. 15

(%) TRI, ol q R ARG Fa Yoledt T&f 6l
TR it

(@) AR *1 aRon F=1 87 Areds 99w SA$ediyn
H GHSET

Explain Concept of MIS, emphasize on TPS and DSS. 15
MIS ! RO i THSAEY, TPS T DSS H1 He™ aaRUl
Define Internet, and its impact on e-marketing now-a-days.

15

e I U HIfSY den omel & 9Ha H §-Heh{en
T THe Hew i SdEdl

Define e-commerce and e-commerce application services
with its architecture. 15

T HMH h IRAMYG HIGL TN S-HFH  STIART Farstt
9 THEH QM Skl AR

(a) Discuss various models related to e-commerce.

(b) Discuss components of EDI. 15
(F) T-Fmd ¥ g2 fafam dieatl W == wif

(@) LS. (EDD) & 2| W == hifedl

26279//KD/1429 2



7. What is e-payment system ? Discuss its types and major
security threats and their solutions connected to it. 15

-y foen 0 B2 TEh YRR qe HeA TRem @l qefl
T8 TEE HYHl R 9= it

8. Explain e-governance, major impact and its help in
Gloabilization. 15

IEHE, THE A Y@ AriferRor § TEe WEg
1 HHAEY)

9. Write note on :

(a) Online Payment Gateways.

(b) Internet Banking. 15
e fafan .
(F) AFET YHS TEE|

(@) 322 dfF

26279//KD/1429 3
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BCM/J-21 26293

CORPORATE ACCOUNTING-II
Paper-BC-401

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory. Rest all
Questions carry equal marks.

M : TIF THE O Uk YT HT I9T FW gL, HA THAH
oier W % S AU $E w1 e €1 SRt
gl 9 g9 R & T

Compulsory Question ( 31fard wg)

1. Answer the following in short :
(a) What is super profit ?
(b) Discuss dividend yield method of valuing shares.
(c) Preferential creditors.
(d) Rebate on Bills discounted.
(e) Re-insurance premium. (5%x4=20)
frfafed & S 999 H 3 :
(%) YR Wi =M 272
(@) I & YeAikd I AW 39S qgid w1 foeE
HItY|

26293/ KD/1123 [P.T.O.



(1) Eifusit SRR
(%) famd faal ® g2l
(¥) g Hifm|

UNIT-I (Saht3-1)

2. What do you mean by Goodwill valuation? Discuss the
methods which are used for Goodwill valuation. Which
method is the best in your Opinion? (15)
= qeaid § oW F TEe ¥ TN godied &
faw ST # SF ol faftel | ==t w2 s ™
¥ ®E-F qlH gl oS ©?

3. The following particulars are available in relation to ABC
Limited :

(1) Capital : 450, 6% preference shares of Rs. 100 each
fully paid up and 4500 equity shares of Rs. 10 Each
fully paid.

(2) External liabilities Rs. 7,500.
(3) Reserve and surplus Rs. 3,500.

(4) The average expected profit (after tax) earned by the
company is Rs. 8,500.

(5) The normal profit earned on the market value of equity
shares, fully paid, of the same type of companies is
9%.

(6) 10% of the profit after tax each year is transferred to
reserves.

26293//KD/1123 2



Calculate the fair value of shares assuming that the assets
worth Rs. 350 out of the total assets are fictitious. (15)

T ot d fafiee & dey o frafatan faeao soosy €

(F) TS 100 T & 450, 6% TGF@ W TR QA
WE ¥ PR fFT T iR 10 T F 4500 s
I TR T WE § Yan fRe )

(@) ARl A 5 7,500.

(M) o SR W™ T 3.500.

(9) O g st oigd omfid ow (R B WR)
8500 . 2l .

(F) T & THR ® I & O P ae sl
I F AR oI W AR WEE A9 9% T

(F) Y& 99 H 9vE AT H 10% WSk H T
H e S 2

I & A T w0 A8 "Ed g W R H/d

Tafas § ¥ 350 T H FUA HOUAETE B

UNIT-II ( 3ehtE-11 )

4. How will you calculate pre-acquisition and post-acquisition
profits in case of the shares of a subsidiary company are
purchased during the course of the Year? Give a suitable
illustration. (15)

oY % I T GEEF FUA H IR @R 5 w1 fofa
¥ o qd-sfmrer SR iR & AR & ol W

MO %Y HAT? TH IO gedid STy
26293//KD/1123 3 [P.T.O.




5. Give a performa of Profit and Loss Account of Banking
Company with schedules. (15)

T ST FEN kA R FE WW R TR ST
% oy <l

UNIT-III ( ZahT3-I11 )

6. The position of Z Limited in liquidation is as follows :

Issued share capital :

1,000, 6% Preference shares of 100 each, fully paid (arear
of the dividend of one year)

1,000 'A" Equity shares of Rs. 50 each, fully paid.
1,000 'B' Equity share of Rs. 40 each Rs 30 paid.
"B" Calls in Arrear Rs. 4,000;

Calls in advance Rs. 6,000 of "B" Equity.

Cash left after making payments to creditor but before
making any calls Rs. 1,16,000

(a) Prepare liquidator's final statement of Account.
(b) What will be the position if cash in hand is Rs. 1,34,000

Assume payment of Preference dividend is in priority to the
Equity Share Capital. (15)

T ® 7z fafee w5 fuf 3@ weR €

S w W IRR S

1,000, 6% SRFA IR 100 T9F TA®, T TE ¥ A
(TH 99 & T 1 FHREAT)

1,000 ‘T’ 50 TR & sfeel R, W W@ 9 JaEl

26293//KD/1123 4



1,000 ‘s’ sfgedt IR 40 TOE WAF 30 TUS AT
I

“St” 4,000 THH HT FHME HicT;

“H" gfedt w6000 T AW H FHA FK

TR I YAE ®H & AR TR W WRA HIE HA
FE W TR 1,16000 T

(%) TREETE: & @H H A e TR i
(@) A 7o | TR 134000 T T @ feafq o wwi?

e © TR alEd e w1 aE sfeel R gt o
wefqwa § 2

7. Give a new performa of revenue account of a general
insurance company with schedule. (15)

SgfeEl & WY TH 99 ST RO 6 qSRd @
T W&EH 3

UNIT-1V (Z&E-1IV)

8. What do you mean by a liquidator's final statement of
Accounts? Discuss the order of Payment adopted by a
liquidator. Also, discuss the methods of calculating the
liquidator's remuneration. (15)
oREHTTes % ifad o faero 9 o9 e wHed ®7 U
TREAT® G T T JaE & TR W == i
Y &, ReHes % qRgHeE 1 TUA & qdenl T ==
Eal

26293/ KD/1123 5 [P.T.O.



9. On 31st March, 2020, the books of the insurance company
contained the following particulars in respect of the Fire
Insurance Business.

Reserve for unexpired risk on 31st March 2019 — 20,00,000
Additional reserve, 31st March, 2020 — 4,00,000
Claims Paid- 25,60,000

Estimated liability related to Outstanding claims
on 31st March, 2019 — 2,60,000
on 31st March, 2020 — 3,60,000

Expenses of management including Rs. 1,20,000 legal
expenses paid connection with claims — 11,20,000

Premium on Reinsurance ceded — 3,00,000
Reinsurance Recoveries — 80,000
Premiums — 44,80,000

Interests and Dividends — 2,58,000
Income tax thereon — 20,080

Profit on sale of Investment — 44,000
Commission — 6,08,000

Prepare in prescribed form the fire insurance revenue account
for the year 2019-20, reserving 50% of the premiums for
unexpired risks and keeping an additional reserve of
Rs. 4,00,000. Assume that one-fourth of the premiums and
claims are applicable to business outside India.

31 A, 2020 I, S HEA R el H T S
FgEE & Gay § fefafad faeo 9

31 9, 2019 1 AT SifEd & faw f6-20,00,000

sfafea fod, 31 |, 2020—4 00 000
26293//KD/1123 6



P fRT T {E—25 60,000
THET TE G Fefd S 3
31 |M, 2019 S — 260,000

31 ®H, 2020 — 3,60,000

@ & Wy PEE fFT M 120000 FEA wE died
T & @9 — 1120000

e W difrEm @ =~ 3,00.000
e GGt — 80,000

=T — 44 80,000

o SR I — 258,000

I W IR — 20,080

e & fasl | @9-44 000

FHYE — 608,000

T4 2019-20 & fou fauif@ gox o o9 S weE
WAl IR, WfEEE e 50% orufaE wifeH @ fag
IRferd Y @R 400,000 TOH 1 SMfaRea R @
uH o for Wfiem @R <@l &1 H-UE 9Ra % Wl
R R A e Tl

26293/ KD/1123 7
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BCM/M-21 26294

BUSINESS STATISTICS-II
Paper-BC-402

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each Unit. Q. No. 1 is compulsory. All questions carry
equal marks.

T : YIF THE W W Uk U9 &1 999 FW gL, HA UiA
e &% S AU Yy gem | e B et yeAl
% 3k guH 7

Compulsory Question ( 3TF@Td w9 )

1. Write short note on the following :

(a) How will you test the reliability of coefficient of

correlation ?

(b) If one of coefficient of regression is negative, can the
other coefficient of regression be positive ?

(c) How is conditional probability calculated ?
(d) Discuss the conditions for Binomial distribution.
(e) Point out the role of Poisson distribution.

26294//KD/1367 [P.T.O.



frefafas W o9 e fafa ;

() FEqrrY Ul i favaEHiad w1 W™ wd ® W
el 8?2

(@) IR T THEET OlH HOMEHE & q F I
AT T[T A @1 Eehdl ©2

() eMf¥a WIaeRaT w1 TOMT %9 i B2

(7) fgug oo #1 vt &t fag=mm +X

(¥) II9d fa@mor &1 Hgdr san|

UNIT-I (Sat3-1)

2. Calculate the coefficient of correlation from the following

data and interpret the result.

Fefafed kel 9 98 W99 TUNd T L qe 3T
IEEEEREAIEIY

IXY = 8425, X =285, Y=28.0,0, =105,

o, = 5.6, N = 10.

3. What are the degrees and types of correlation ? How Karl
Pearson coefficient of correlation calculated ?

TeaEY &1 HE 9 YR -1 &7 Fd RREd 98-
e Oy 9 fRar S 22

26294//KD/1367 2



UNIT-II ( 3ahTE-11)

4. Explain the concept of Regression and comment on its utility.
Also differentiate between correlation and regression.

YATTHT T UROT o H FUHT SUATAT W feoaed
FIVT Gegmery 9 TAome § R ff T #1

5. Obtain two regression equations from the following data :

= enihgl @ A YT GHIROT A R

X : 23 26 39 31 36 21 30 39
Y : 45 48 45 42 31 39 38 32

Also find (i) value of Y when X = 30 (ii) correlation between
X and Y.

Te W W R (DY FTHA TR X=30G)X T Y
% U FeHE|

UNIT-III ( 3ehTe-I11 )

6. A book contains 100 pages numbered 1 to 100. A page is
opened at random and is selected. Find the probability that
opened page is multiple of 6 or 10.

Th TEE W 100 U9 B S W 1 | 100 Tk TR fod
g Ahfes yeRol Gfd @ wh U9 @ien 9 99 foran
qastl fF ST U ® 6 A 10 F OIH H BH &I FN
GHEAT B2

26294//KD/1367 3 [P.T.O.



7. State and prove the “addition” and “multiplication” theorems
of probability with suitable examples.

SYYE 3TN Ukl & AW & UF GHAT S A
e fag =R

UNIT-IV (3&TE-1V )

8. (a) Out of 320 families with 5 children each. What
percntage would be expected to have (i) 2 Boys and 3
girls (ii) at least 1 boy assume equal probability for
boys and girls.

(b) The probability that a person dies due to malaria during
a year is .004. Find the probability that out of sample
of 100, 98 will be survived during next year.

(F)320 GRei § § 9%k & 5 a=d ¥, AgH 3N
AEfRal w1 THH F9ET A g (i) 2 wew 3R
3 dEfRal (i) 9 9 #H | dSh &I fhad gfovm
TR H1 IEAT &I S

(@) T oAfF & Tl § 7H &1 IiFear 004 2

Tw 100 AfFdd & <Ol § 9 W g9 98 &
Sifad ®A i GIfFshar <qre|

9. Why does the normal distribution hold the most honourable
position in probability theory ?

gifeRdt fagra & A oo &1 T 99 F e

26294//KD/1367 4
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BCM/M-21 26295

BUSINESS LAWS-II
Theory
Paper-BC-403

Time : Three Hours] [Maximum Marks : 80

Note :

e -

Attempt five questions in all, selecting one question from
each Unit. Question No. 1 is compulsory. All questions
carry equal marks.

TH THE U W Uk WO H 99 HW U, KA U
g ® IR AU T g | oAt 71 9 ueEi
F 3F THE B

Compulsory Question ( 3TF&™ w9 )

1. Write short answer of the following :

(a)
(b)
(c)
(d)
(e)

What are kinds of Bills of Exchange ?

What do you mean by ‘Holder in due Course’ ?
What is meant by Dissolution of firm ?

Discuss in brief certifying Authority under IT Act.
What is meant by Third Party Information ? (5x4=20)

frefafed TEsaia ool & S| ST :
(%) fafra faa & frae weR 82
(@) ‘gafafy o’ 4 o faum 27

() &8 & 69 O #1272
26295//KD/878 [P.T.O.



() AR, AfEH & FAdid gHORRGl gifteRR g8 o
uftfog #1

(&) d we @ e gEal w1 aEn sifuyE @7

UNIT-I (Zeht3-1)

2.  What is meant by the term ‘crossing of cheque’ ? Who can
cross a cheque ? What are the various types of crossings ?
15

o ® iR W AT F I &7 Hh 1 Wik B
F HFHA 2?7 ol TR ® @iwAl w1 auH Hifsm

3. What do you understand by Dishonour of Negotiable
Instruments ? Discuss the modes and effects of Dishonour ?
15

fafra w@eg SEst % SEERUl § 39 A gued 77
FERY Ht fafeEi den w1 aui wifew)

UNIT-II ( SehtE-II )

4. “A partner is an agent of the firm in the conduct of the
business”. Explain. Also Explain the Implied Rights of a
Partner that lawfully bind the firm. 15

“UF TERR ®H # a9 ® fau sHE w71
TRyl fedl 9ERR g WH Al w5 wH H Tfd
AR ® Haw § Juifie Haeerd Fqeu)

26295//KD/878 2



5.  What is the procedure for Registration of a Partnership Firm?
What are advantages of Registration ? Also explain the
consequences of Non-Registration of firm. 15

TR wH ® USRE # F RN 27 USRE @ @y
F1 B BH % W-USE & uRemEl s gl smifew

UNIT-III ( $ehT3-111 )

6. Discuss the procedure of getting a group of people
Incorporated as “Limited Liability Partnership”. 15

K o Tk T8 i T HifHd e Teel & &9
T gumfed BF &1 i w1 fag=m wifsw)

7. When a partner of a limited liability partnership may cease
to be a partner ? Discuss the extent of Liability of Limited
Liability partnership and its partners. 15

T Hifd I SRR W WERR %9 9ERR B
A B ST 8?7 i i SR qen 3Eeh WiERer

® o w famr § faa= wifsm

UNIT-1V (S&E-1V)

8.  What do you understand by Electronic Governance ? Explain
the legal provisions regarding Electronic Governance in IT,
2000. 15

TR YA W STUehT S AW €2 el dreifient
FfuftEd, 2000 ® soiRIR A Gae HITH HrerEl
1 qUA HITSC

26295//KD/878 3 [P.T.O.



Explain the procedure of obtaining Information under Right
to Information Act. 15

o 1 AEHR AffTET & SFdid gEa ww w6
EIE RN I LG e

26295//KD/878 4
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Time : Three Hours]

BCM/M-21 26296

COMPANY LAW-II
Paper-BC-404

[Maximum Marks : 80

Note : Attempt any five questions. Question No. 1 is compulsory.

e -

Question No. 1 is of 20 marks and rest are of 15 marks
each.

FE U WE wiNUl W gen | et #1 wed
GEA TH 20 3k k1 € AR T Yk W 15 3k
F 2l

Compulsory Question ( At ug)

(a)
(b)

(c)
(d)

(e)

What is Register of members ? 4

Discuss the ways by which a company secretary may

be appointed ? 4
What do you mean by Quorum ? 4
What is divisible profit ? How is such profit
Determined? 4
What is voluntary winding up of company ? 4

() G&= 1 T F1 Bl 22
(@) 37 fafumi 1 oo = 59 g0 wvAr 9fea &l

R ®1 S wehdl ©?

() FrfaEs: T& 9 o9 F HHed 27

26296//KD/534 [P.T.O.



(%) faas AFg oY F §7 @ oY &1 (uRer &9
fora s 22

(T) HFAT o Ufess AT 1 BT 82

2. Discuss in detail the Rights and Liabilities of a company's

members. 15

TH FOH & G & AfER SN il 1 fomr @
o |
3. Companies Act imposes certain restrictions on the

appointment of directors. Write an explanatory note on such

restrictions imposed by Companies Act. 15
FHEA AU el & e W /s gfaey o
B afufE gR o W A 39 UREel W T
s e forl

4. Define company secretary. Write in detail about the powers
and duties of a company secretary. 15

FHOE gfed &1 aitdaw €| Te wEAE 9fug & ifuerd
AR Tfel ® W) § famr 9 fere

5. What are the requisites of a valid general meeting ? Explain
in detail. 15

T RO G K MEYIER ANV F §? TRy
ALY

26296//KD/534 2



6. What do you mean by a resolution ? Explain different types
of resolution in detail. 15

THh YEE © Y F gEsd 87 YW % YRR
fomr 9 IoF

7. What is divident ? Explain the duties of auditors in respect
of this. Can dividend be paid out of capital ?
AT TN T? TW TAT T S{heH F hdod AUl A
It H 9 onier w1 famor e w1 w22

8. Explain in detail various modes of Amalgamation of
companies. Also state statutory provisions and procedures
regarding Amalgamation. 15

HEA F TRHIHWO & qldhl Hl TR § = wl
SHY 92 Faulieh wEeH iR uRear @ off gwi

9. What do you understand by winding-up of company ?
Discuss the circumstances in which a company may be
wound up by the National Company Law Tribunal. 15

TF FEE F OGEOE ¥ 9 N THE §? 39 uRfefaat
w1 U W T T wE stfuftem =mnfuser R
FOM w1 GEOE R S R

26296//KD/534 3
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BCM/M-21 26297

COMPUTERIZED ACCOUNTING SYSTEM
Paper—BC-405

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt four more questions from the
remaining eight questions.

e ;. FA U T % S e T "wen 1 sitEd @
39 6 W H ¥ WR WA SR s

Compulsory Question ( 3TF&= o)

1. Explain the following in brief :
(a) Explain the components of Tally.ERP9. Window.
(b) Security Control in Tally.ERP9.
(c) Credit Note.
(d) Steps of Sales Order Processing.
(e) Payroll Accounting System. (5%x4=20)

frefafed #1 &9 o =ren wifs :

(%) SHERPY fomel & weahl w1 9ui wifer)
(@) SHERPY  Trem fsmn)

(M) wfee A=l

26297//KD/1439 [P.T.O.



(%) fora =Y TEERT & =

(¥) W @ik e

2. What is meant by Tally.ERP9 ? What are its characteristics ?
Also explain the process of installation of Tally.ERP9 in the

system.

JNERPY w1 = 1 87 THeh s femivand ©7 faeew
H IN.ERPY i TG 1 Wiham &1 oo/ ot shifsa

3.  What are Accounting Vouchers ? What are the different types
of Accounting Vouchers available in Tally.ERP 9 ?

SREFA YA FT &7 SGLERP9 § 3Uaisd fafe= w&R
F AGFT THOE HA-HH G B2

4. What do you mean by Balance Sheet ? What are the steps
for showing the Balance Sheet in Tally.ERP9 ?

feafg foawor @ smusrt w0 SAfiyur 82 Se.ERPO H frefa
foeror w1 <9 & fafa= =Ro ®E-%E 9 82

5. What are the objectives of preparing the budget in a
company? Also explain the various steps for preparing the
budget in Tally.ERP 9.

TF FOA H a9e ® AR FH H R I 7
3efl. ERP9 ¥ &2 & IR W o fafs= =i ek
U i Hifsa|

26297//KD/1439 2



6. What is meant by the term Goods and Service Tax (GST)?
Also explain the various methods of implementation of GST
in Tally.ERP 9. 10

el R Hel wC (GST) =g w1 7 o7ed 82 Sef.ERP9
4 GST & wEraad & fafvy= alewl &1 au[ o sifsal

7. Explain the following in brief :
(a) Stock summary in Tally.ERP 9.
(b) Interest calculation in Tally.ERP. (5+5=10)
frafafea #1 w&w o saren ifse-
(%) SLERP9 H Wik HR|
(@) SHERP9 H =15 &1 UM

8.  What do you mean by Tax Liability Calculation ? How you
can compute tax liability in Tally.ERP 9 ? Explain it with
suitable examples. 10

F-ME FT AT G SR F AYE 87 9 ol
ERPO § F-Tfda # UM HE HT Thd 27 9
SYYA TN I HEEdl H HHSEU)

9. What is the meaning of ‘Payroll’ ? Give any five features of
Tally.ERP9's Payroll. What steps would an user follow to
process payroll in Tally.ERP9 ? 10

‘e’ W o e 87 SMERPY9 WA I HIE Ui

faeioand saEwl SEh.ERPY ® et # WA & fau uw
STINTRT T HIH IS

26297//KD/1439 3
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BCM/M-21 26298

ADVERTISING
Paper—BC-406(1)

Time : Three Hours] [Maximum Marks : 80

Note :

e -

Attempt five questions in all. Question No. 1 is compulsory
carrying 4 marks each. Attempt four questions from the
remaining eight questions carrying 15 marks each.

FA U T ® IW AW TF Fem 1 st @
A THHT TAF N AR HFH 1 ¢l U9 @ WA H
T 3 R YA % S N Y&E W9 15 3Tl
F Tl

1. Compulsory Question ( 3Ta™ wo )

Write short notes on the following :

(a)
(b)
(c)
(d)
(e)

E-advertising.

DAGMAR Approach.
Media Scheduling Strategies.
Client Agency Relationship.

Consumer Jury Method.

frafafea w dfaa feooft fafex -
() T
(@) DAGMAR gftesio

26298//KD/1184/Trans. [P.T.O.



() wHifea gEI-gRof WG
() TeE Tl Haw|
(F) v S fafa

Define Advertising. Discuss the nature and scope of
advertising.

fommm &t aftwm fafen fammm &t wefa qen & &)
== wifsl

What do you mean by Ethical aspects of advertising? Why
is it essential to observe ethics in advertising?

~

fomo & Afdd Teq W oMU F A ¥? fammw o

~

TR H IO FE F SEIF 7

What do you mean by Advertising Appeals? Explain various
types of appeals with suitable examples.

o oTfiel § o9 w1 Aqd 87 fafd= YeR ol
oTdell w1 Sfad IJEIEN & WY qHEEu|

What do you mean by Advertising Budget? What factors
will you consider while deciding an advertising budget?

foRToT ool | 39T =1 a9l 27 T faqod asie 0
FA GHI Y HH-¥ FREHE W fER w90

What is an Advertisement Copy? Describe various types of
Advertising Copy with examples.

w fagmm ufa s 27 fafv= wer ) fagmm ufa =i
ITEN & Y US|

26298//KD/1184 2



7. What do you mean by Media Planning? Discuss various steps
involved in Media Planning.

Hfen feiee 9 ove @1 ad §7 Hifean FesH o
wmite faf= =eon =t == Swifs

8. What is an Advertising Agency? Discuss various factors
considered while selecting an advertising agency.

T foqo TS F 87 Ue TR TS % 9o
T foar w@ 9 fafi= Rl &1 == s

9. What do you mean by measuring Advertising Effectiveness?
Why is advertising effectiveness essential to evaluate?

fogma yqEsied ® WO W SUET N dead @72
ERIEE IRk NI D B 12 e T R

26298//KD/1184 3
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BCM/M-21 26299

ENTREPRENEURSHIP DEVELOPMENT
Paper—BC-406(ii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
Compulsory. Question 1 is of 20 marks and rest are of
15 marks each.

e : o die W % e <1 W "' 1ot SR
TR YOk W 15 T ® T

1. Explain the following :
(a) Intrapreneur.
(b) Venture capital

(c) How is Break even point helpful in profit planning of a
project?

(d) Explain any four problems of an entrepreneur.

(e) Explain the economic approach of Entrepreneurship.

= =l HHERy

(%) STARw  STH

(@) s il

(TT) W@ F AT Ao H ane-steny fefq ¥ ARam

2l

() 3FH HT FE TR TAEANT FqE

(F) SIfH@ & oo gftesmon &1 =men
26299//KD/1457 [P.T.O.



2. Define the term Entrepreneur. Explain the different types of
Entrepreneurs with examples.

S TR I aRefa w1 SRl ® Wy fafi= weER
% M H A w

3. What is a Small Business? Critically analyse its relationship
with large enterprise.
B FGHE F T2 a8 SSOH & WY B HIEHE &
Haef w1 TR w9 9 fowemor )

4. Explain the environmental factors for success of a new
business.

AU EEE i Gl & AU qIieRoig HRehl i A
=Xy

S.  What are the main elements of feasibility report? Describe
the structure of feasibility report.

ZeEEd RO % e o 7 ¥ FewEa R
AT HT I

6. Write notes on :
(a) Market Planning.

(b) Demand Forecasting.

e fawr ;
(%) IR M|
(@) 9 gagEE|

26299//KD/1457 2



7. Discus the major components of project cost.

IS @ % WY@ Tel @l fewhd Hil

8.  Write a detailed note on the role of Ministry of MSMEs for
Entrepreneurship Development.

safaar fasm & faw MSMEs &t qfie W & fosma
e e

9. Write notes on :
(a) Start up India.
(b) Skill India.
Jre forat
(F) R 3 e
(@) fra sfeam

26299//KD/1457 3
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BCM/J-21 26311

PROGRAMMING IN JAVA
Paper—-BC(Voc) 405

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five question. Q. No. 1 is compulsory. All
questions carry equal marks.

Compulsory Question

1. (a) Define Java.
(b) Write 4 features of Java.
(c) Is Java 100 percent Object oriented ?
(d) What is Local variable ?
(e) What is a Class ?
2. Can Java be used in Object Oriented Programming, explain
with example ?
3. In Context of Java Explain :
(a) print(), Printf().

(b) Inner classes and String classes.
4. Explain concept of inheritance and overloading in Java.

S. Explain various options :

Jlabel, Jtextfield, Joptionpane, Jbutton.
26311//KD/1515 [P.T.O.



6. Discuss Mouse event handling and key event handling.

7. (a) Explain Flow layout, Border layout.
(b) Discuss Graphics and Java 2-D.

8. Explain use of Menus with frames with example.

9. Write note on :
(a) Arrays and operators in Java.

(b) Graphic contexts.

26311//KD/1515 2
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BCM/J-21 26312

ADVANCED COMPUTER APPLICATIONS
Paper : BC(Voc)-406

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question number 1 (20
marks) is compulsory. Question No. 2 to Question No. 9
are of 15 marks each.

1. Compulsory Question

Write short note on the following :

(a) Wide Area Network.

(b) Star Topology.

(c) E-Wallets.

(d) Income Tax Portal of Government of India.

(e) Digitalization of Services.

2. What do you mean by Network Topology ? Explain Ring,
Mesh and Bus Topologies using suitable examples.

3. Discuss the TCP/IP reference model in detail.

4. Explain the following w.r.t. Computer Networking Capacity,
ISDN, ATM.

26312//KD/1615 [P.T.O.



5. (a) What do you mean by banking at home ? Explain the
merits and demerits of it using suitable examples.

(b) Write short note on IT applications in business.

6. “Government of India has mandated the use and linking of
AADHAAR with various other platforms of an individual”.
Discuss it with impact on citizens.

7.  Write short notes on following :

(a) E-Governance.
(b) Cyber Security.
8. What are different threats which leads to cyber security ?

Explain the safe and unsafe uses of online portals to
anticipate the cybercrime as an individual.

9. (a) What do you mean by landing the business to
E-business ?

(b) Discuss the IT Act, 2000 along with its impact on Cyber
security.

26312//KD/1615 2
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BCM/M-21 26313

OFFICE PRACTICE AND COMMUNICATION THEORY

Paper—OMSP-BC(Voc)-405

Time : Three Hours] [Maximum Marks : 60

Note :

e -

Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.

el e T % St e W wen 1 et 2
el g # ¥ WA T

Compulsory Question ( 3TF&™ w9 )

1. Explain the following in brief :

(a)
(b)
()
(d)
(e)
®

Decentralization of Mail Department.
Post Office Guide.

Trade reference.

Peon Book.

Office Orders.

Appointment Schedule.

fm= = dem § =men i
(F) ik faam 1 fam=asmo
(@) e FEeg ey

(M =aafie g9 9=l
26313//KD/1373 [P.T.O.



(°) = giEdeR
(T) ™ R
(3) wFa fAuaRor =

Describe the meaning and importance of mail in a bussiness

office.

T 9 HEAT H S & 31 Td Hew™ Hl auH
FI

State the procedure of sorting mail on table and in racks in
detail.

T H 3T W F & | Bled &l G o1 fawga &9
¥ guiA wifeal

What are the advantages of Inward Mail ? Explain.

AR T W H R AN B? RS SIS

Discuss the routine of handling outward mail in a business

office.

T RS FEfed U SfEH € Sl 9ReH 6l

LT T FUH Hifeg|

Describe the importance of folding of letters and weighing
of letters.

T & HIEH § A ®E h AW w1 GUH RIS

26313//KD/1373 2



7. What is Good letter ? State the essential characteristics of a
good letter.

=51 T ) Uk ISP W H AERIS 0N H A

Hifra|

8. Draft an enquiry letter.

TSAS & U H WEY dGR S

9. Discuss the factors to be considered while selecting office
equipments.

FEEE Bg IUHWN 1 T9 HW I HH @A AT
Zh! H1 FUM iUl

26313//KD/1373 3
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BCM/M-21 26314

SHORTHAND ENGLISH THEORY
Paper—OMSP-BC (Voc)-406

Time : Two Hours] [Maximum Marks : 60

Note :

e -

(b)
(©)
(d)

(e)

®

Attempt five questions in all but question No. 1 is
compulsory. All questions carry equal marks.

el Ul Y HITNU ol wuH Wed eifer B oaen
gl gl % ¥k gHA R
Compulsory Question ( 3TF&= o)
Explain the use of ‘Dot-H’ giving two examples.
Explain the use of upward ‘SH’ giving two examples.
When Medial Semi-Circle is used in shorthand.

The Doubling Principle is employed in phraseography
for the indications of words ............

Write the following words in shorhand using the suitable
suffixes :

(i) Friendship.

(i) Carelessness.

Draw the Outlines of following phraseograms :

(i) If they were.

(i) Difference of opinion.

(%) FE T I[N IHX ‘Dot-H & WA i IIMTY
(@) Upward ‘SH’ T YA FH HIE ST ISE0N ThT T

Exd

26314//KD/1516 [P.T.O.



() RIfAfs # Medial Semi circle %1 WaRT &d TR
S B, TR R

(%) @relt M 9 : The Doubling Principle is employed

in Phraseography for the indications of words........... .

(¥) 3fad suffixes T TN Hd gC =1 =R a1 SMRIfAfa
4 fafgu .
(i) Friendship.
(i) Carelessness.

~

(=) fefafaa e e w5 g fafe .

(i) If they were.

(i) Difference of opinion.

2. Explain the use of ‘Tick’ and ‘Dot’ for ‘H’ with suitable
examples.

‘H & fau ‘Tick’ 921 ‘Dot’ & WA & &L @fed
ST
3. Explain the use of Medial Semicircle in detail.

smIfafs ¥ Medial Semicircle & WART I foreaRgeie
U HI|
4. Explain the using of Halving Principle in Phraseograph.

I @@q H ‘Halving Principle’ & TN &1 99
CAIELY

26314/KD/1516 2



S. Explain the different prefixes used in shorthand with suitable
examples.

swIfafs § wam few SM A f99-f9= prefixes &1

3T Higd auiF Hiteu|

6. How the figures and different monetary units are written in
shorthand. Explain in detail ?

aRpfafa | ofwi den fo= Hifgw sREAl i fae #

fafy =1 fongas 3@ wifsul

7. Explain with example when the Halving Principle cannot be
employed in shorthand.

fooelt feafa # omRpfafy # ‘Halving Principle’ &1 &M

T fhen S gar, 30T Gfed TR hifed|

8. Explain the different Note-Taking-Techniques in detail.

Note-Taking-Techniques %1 fa<Ryes JuH wHifsTl

9.  Write the Outlines of the following using the rules of different
contraction or intersections :

(a) Capital Punishment.
(b) Your Attention.

(c) Emergency.

(d) Distruction.

(e) Wellknown Authority.
(f) Expect.

26314//KD/1516 3 [P.T.O.



Contraction T2 Intersections T YA &d g€ FHAfaraa
TR Hl ARG H HEA BN :

(a) Capital Punishment.

(b) Your Attention.

(c) Emergency.

(d) Distruction.

(e) Wellknown Authority.

(f) Expect.

26314//KD/1516 4
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BCM/M-21 26315

MARINE INSURANCE
Paper : BCM-BC(VOC)-405

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt four questions out
of the remaining eight questions.

e : Y9 . T AFaE 21 9 6 TR W 9 HiE o =9R g
# S S|

1. Compulsory Question ( 3rfrard-ug)
Explain the following : (4x5=20)
g 9 e w1
(i) Principle of utmost good faith.

Hfyshan g e fagr=a
(i) Subject matter of Marine Insurance.
gl & T fava-a)
(iii) Implied Warranties.
TTHT SATeeTE |
(iv) Valuation of loss salvage.
3TN eI B T AR
(v) Insurable interest.

S arafedl

26315/00/KD/1692 [P.T.O.



Define Marine Insurance. Discuss its origin and growth.
gt S w gRefya HINW $9% ITM qen Wfd i
AT HIFT

Describe in detail the procedure for obtaining Marine

Protection Policy.
TS WU Oiferel &1 WW ® H1 GhRAl i fawga
AT IS

What are the different types of Marine Insurance Policies?

Discuss with examples.
fafg= gqga < wifafesl ®H-3F @ 2?2 33w gt
=1 STl

Explain the meaning and effect of change of Voyage and

Deviation in a contract of Marine Insurance.
Tt <t ey | e ufedd qen foeer & eneE eI
Y9E S|

Explain the various types of Charges. How can captain of

a ship obtain loan during Voyage?

YR =41 & i YR 9qeul SES & [ gRI A
o= R0 9 YR 9 g fREr ST gekar @72

26315/00/KD/1692 2



7. What are the essential requirements for the payment of
Marine losses? Discuss with examples.

Tfsw el & A $ U gaygd e # €2
3ITR |ied == Hif

8. What is meant by "Particular average loss" in Marine Policy?
Discuss the procedure for computing average loss?

Tt fm o “fafyme sfiwa =i @ e @2 fafire
e B w1 Ui w0 w1 fafy fafem)

9. How is premium determined in Marine Insurance?
Elaborate.

s i W diftem e frufor &9 feen S @2
e H

26315/00/KD/1692 3
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BCM/J-21: 26316

PPI-BC-406: Insurance and Finance
Time: 3 hrs] [Max. Marks: 80

-----------------------------------------------------------------------------------------------------------------

Note: Question No. 1 is compulsory and each part of it carries 4 marks. Answer to each part
of this question should not be more than one page. Further, each candidate is required to
attempt four questions from the remaining eight questions carrying 15 marks each.

O D S e S S S S S S

1. Explain/answer the following parts of this question in short:
a. How mortality table is constructed?
b. Differentiate between net single premium and gross premium.
c. What is Compound interest functions?
d. Statutory regulation of reserve for an insurance company
e. Mode of loading for expenses

2. "A mortality table is a diagram that shows the death rate for a defined population
within a specific period of time. Jt predicts the likelihood that an individual will die
within the current year." Elaborate this statement by giving the use, features and types
of mortality tables in insurance.

3. Ilustrate the methods of computing premiums in Whole life and Endowment
policies. How does a mortality table for-annuity helps in insurance premium
calculation.

4. What are the cconsiderations that will influence the decision of the parties to pursue a
Periodic Payment orders (PPO) settlement? Explain structure and indexation of
Periodicity of payment orders.

5. Explain laws of probability with illustration. What is importance of understanding the
laws of probability in insurance?

6. Explain the basic concepts ofactuarial valuations. How are actuarial valuations
performed? Why do we need actuarial valuations? Which employee benefits require
actuarial valuations? -

7. Explain with example the Mode of claim payment. Also explain concept of Level
Premiums and mode of loading for expenses to net premium in insurance. How
expenses are distributed over the period of policy? What are various forms of
payment of Surrender Values?

8. Answer the following questions appropriately:

fas)

. What are some of the critical factors affecting your insurance charges?

. How to Lower Your Insurance Premiums?

. Are There Different Options to Pay the Premium?

. Is the life insurance premium tax deductible?

. Are premiums negotiable?

9. Answer the following questions in short:

a. What are various sources of reserve and method of computing these reserves?

b. How reserves are important in life and property insurance?

c. Differentiate between Retrospective method and Prospective method of
reserve computation under Group policies and Single policy.

d. What is nature of surrender value and how is it calculated?

¢. Define Automatic premium loan.

a oo o
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BCM/M-21 26317

ADVERTISING OPERATIONS
Paper—ASPSM-BC-VOC-405

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Candidate is required to attempt any four
questions from the remaining eight questions, carrying

15 marks each.

A : o Ui WA 1 SW AL Y w@em 1 tEe )
SHTER 1 9 S TH H W fREl uw ueA Al
T HH H TEvARA €, fEH W wEE T 15
Il H R

1. Compulsory Question (3rtEmd ug )

Answer the following short questions :

(a) Explain main difficulties in evaluating advertising

effectiveness.
(b) Discuss three main functions of advertising agency.

(c) Write a short note on Advertising Standards Council of

India.

26317//KD/1448 [P.T.O.



(d) Define Client Turnover in the context of Ad-agency.

(e) Give any four arguments justifying the need for
regulating advertising. (5x4=20)

~

frefafed &g 99 &1 SW T :

(%) faaoA gaERfiea & qodied § Y&A SisARdl i
= F

(@) fasA Toidt & dF g wRl WogE

(M 9 o weE aReg | dfaa e fadl

() faamm okt & Wiy o Femge THemeR i uRenfua
x|

(%) fasmm =1 fafafia @ &1 emEavIswa w 3fua
IE TL HIE oW T el

2. Explain the pre-testing and post-testing measuring ad-
effectivenesss. Why does advertising manager evaluate the
effectiveness of advertising? 15

TR woasfierar i 7o & forg gherm gd SR wdier
% A€ & Ahl hl AR B faaE gEeE fosmE w6t
JAEiIdr ® eAhT A w77

3. Define client agency relationship. Discuss principles of
effective client agency relationship. Explain how advertising
agency get clients ? 15

Ted Todl Gau I IR & FqEr Wed TS
ey & fagial | ==t =) 99 5 o weid S
e Y fhed 872

26317//KD/1448 2




4. What is meant by advertising agency? Explain the benefits
of ad-agency to clients and media. 15

foemm ol @ @ ded 22 ueel ok difemn
fomma TSiEt & ol = =ren wY
5.  What do you understand by ethical aspects of advertising?

How far Advertising Standards Council of India is effective
in controlling the unethical aspects of advertising ? 15

foae & Ao wegeli o9 w wwe €7 faRmm &
Fifaer wegel # FEbE w0 A 9 fome aeew
ufog fofe &g TR wAEl @7

6. What is advertising department? Discuss the various functions

performed by advertising department. 15

fomoe fawm == 27 fammm fowm g fvo SH e
faf= =@t = == STl

7. What do you understand by legal framework of advertising?
What rules are framed by government to regulate advertising?
15

e & S @9 W o w e €2 famm W
fafafig w1 & fau WER g7 HE-§ fom a9 T

8. Write detailed note on :

(a) How client agency relationship be improved? T2

(b) Methods of remunerating ad-agency. Y2

26317//KD/1448 3 [P.T.O.



% fawa e g
(%) TEF THE Tael Hd Gur?
(@) fomA TS w1 TRgHE W % Al

9. What do you mean by measuring advertising effectiveness?
Discuss its importance. Explain the approaches of evaluating

advertising effectiveness. 15

foRlTe qoeiier 1 A9 W 9 A HEEd 27 SEeh
e W o= w foumw yweRfiear % qedied &
TRl 1 = |

26317//KD/1448 4
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BCM/M-21 26318

PERSONAL SELLING AND SALESMANSHIP-II
Paper : ASPSM-BC-406

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory
carrying 4 marks each. Attempt four questions from the
remaining 8 questions carrying 15 marks each.

T . Het UT T b SR S 99 g | et ®
fS9Y Y% YT 4 3k 12| Y S I H § IR T
HIT T 99 15 3F &1 2l

Compulsory Question

(e 7ve)
1. Write short notes on the following :
frafafed w Hfia femfmr fafe

(a) Importance of Salesmanship.

fgha el 1 Hed|

(b) Kinds of Consumer Services.

U WA & YRR
(c) Define Order Desk.
MR S&h I YR HifTw|

26318/00/KD/1653 [P.T.O.



(d) Advantages of Sales Manual.
fospt faaeform & el

(e) What is Tour Diary? (5%x4=20)
T el fhd wed ©2

What do you mean by Salesmanship? Explain the Limitations
of Salesmanship.

fosra ool O 3T9eRT &= S1faur 272 fasa wen w1 et
HT UM HL

Explain various measures for making selling an attractive
career.

fosha &1 ekt Uen oM & fore fafa= gemat @ aof
HIfST|

What is distribution network relationship. What is its
significance in Business.

oo JOR el &1 1 SAFYE 7?2 SHa9E § TEe]
e 27

What do you mean by Cash Memo? How it is useful in
maintaining the record of sales.

91 WE W vk Y 27 fehd el eniehel &
g=d o &y WA W ST w1 v Wl

26318/00/KD/1653 2



6. What do you understand by Sales Report? What are its
contents? Also explain the benefits of Sales Report.

fosra o 9 ey @ sifaume 27 Toe fafa= dw 0
27 fasra U =1 Swfiar 1 & 9vfq sifsu)

7. Explain in detail qualities of an Ideal Salesman.

T&h RS fasaesral & o &1 fawrR 9@ =men &ifsw)

8. Discuss the Challenges of personal selling in Modern
Marketing.

e faom & & o foha @ i SEIfGA Wi
TN Hifeu|

9. What are the duties and responsibilities of a Salesman.

T famaedl & Hded 9 STl 1 guF Hifeu|

26318/00/KD/1653 3
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OBCM/J-21 26319

CORPORATE ACCOUNTING-II
Paper-BC-401

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory
comprising five short questions of four marks each.
Attempt any four questions from remaining eight
questions. These four questions carry equal marks.

e : FHA U A KU T G TF Afed ? o
TR-9R R & T oY Y wihe €1 99 e e o
¥ ST AR 9T HIWU 3 =90 YT B Sk FEE 2

1. Compulsory Question (W—W)
Answer the following in short : (5%4=20)

frefafed & s 959 ¥ T ¢
(a) Explain the calculation of capital employed while valuing
goodwill.

a1 Joaihd wd 999 e USH shi ITom
HHARUI

(b) Discuss any five factors affecting the valuation of shares.
IR & eAIRT i YAIfad HA At =l uter wRe
1 ==l HIfS

26319/00/KD/1442 [P.T.O.



(c) Cost of Control and Minority interest.
0 &t o SR eI el
(d) Cumpulsory winding up.
e FHoA|
(e) Rebate on Bills Discounted.

et foe W g2l

2. Explain fully, taking imaginary illustrations, the concept
of "Super Profit". How is Goodwill valued on the basis
of Super Profits?

FHTeqTh FIal ! od gL YW Uik HT TTUROT Hl
0 WE ¥ HEeAUl W Yifhe & ¥R W TEfad &I
i &y fhan S 22

3. The paid-up share capital of a company consists of 2000,
5% preference shares of Rs. 100 each, and 4,000 equity
shares of Rs. 100 each. In addition to a fixed dividend of
5%, the preference shareholders are also entitled to participate
in the profit up to 4% afrer payment of a dividend of 10%
on the equity shares. Any surplus profits being available
will be given to equity shareholders.

The annual average profits of the company are
Rs. 1,00,000 after providing for depreciation and taxation
and it is considered necessary to transfer Rs. 6,000 per
annum to the reserve fund. The normal rate of dividend

expected on the preference shares is 8% and that on equity

26319/00/KD/1442 2



shares is 10%. Work out the value of each preference share
and equity share in the company on the basis of the dividend

yield method.
T HEAT HT Fehal TR ST F 2000, 100 T & 5%

FF IR AR 100 T F 4000 s TR 1 5% ®
ffvea araler & oTemEn, SFal ae YRRERE iRt
I W 10% S AW & qIAE & 9K 4% Tk h g §
G & % EhaR &1 ST B ol TeRdll oft srfueie @y
1 st TRyl 1 fean s

ToIgM 3R HUUH USH HH H 9% kA H AMEH
T T 1,00,000 TF T IR omfera fafy ¥ yfa o
6,000 T TR AT Taedsdh T Sl el o
TRl T STURT SN B W R 8% © IR et v
W 10% T AE SIS UG F MER W A B A%
Il SR IR sfEdl R % ged &1 oM W (15)

4. What Information, as per the Companies Act, 2013 is required
to be attached to the balance sheet of a holding company in
respect of each of its subsidiary companies? How

consolidated Balance sheet can be prepared?

FEAE sifufed, 2013 & IR, 3O T HEEH
FIA B G99 § TH Bifee HEA F Sog e § wE-w
SR T i i SAEvTRdl 8| Thigd Tefq faero

fohd R TOR fRan ST el 22 (15)
26319/00/KD/1442 3 [P.T.O.



5. Give a specimen of Bank's Balance Sheet on the basis of

Imaginary figures, according to Banking Companies Act.

dfepT FHot Afufem % oUR wreufie kgl & SMHR
W % H g TF w1 Th A9 dfE) (15)

6. Sona Limited went into voluntary liquidation. The details

regarding liquidation are as follows :
1. 2,000, 8% Preference shares of 100 each, fully paid.

2. Class A — 2,000 Equity shares of Rs. 100 each, Rs. 75
paid-up.

3. Class B - 1,600 Equity shares of Rs. 100 each, Rs. 60
paid-up.

4. Class C — 1,400 Equity shares of Rs. 100 each, Rs. 50
paid-up.

Assets including machinery realise Rs. 5,37,400. Liquidation

expenses amount to Rs. 15,000. There is a loan of

Rs. 50,000 which is secured against machinery (which

realised Rs. 80,500). Salaries of four clerks for four months

at the rate of Rs. 6,250 per month and salaries for Four

Peons for three months at the rate of Rs. 2,000 per month

are outstanding. Other creditors are worth Rs. 87,400. Show

the Liquidator's final Statement of Account.

26319/00/KD/1442 4



g fafee wfess aiRems o =en @ oRews %

Wﬂﬁﬁlﬂ'{m%w%:

1. 2,000, 8% Y&® 100 & Ia@ IR, [ e 9
TTAE|

2. FAM T - 2,000 3R IRER 100 T T, 75 T
TE- 37|

3. F™ @ - 100 T & 1,600 SR IR, 60 T
TE- 37|

4. FAE H - 100 T & 1400 FFREE TR, 50 T
Je-27a|

e afed gmfa 537,400 99 9ge w21 qREETE

T # R 15,000 T ? 50,000 TG HT KO 7 WA

T % feems qfem ® (FS9 80,500 T8 1 agef

ge) IR Tafyepi &1 IR W% &1 99 6,250 T3 Gfawme qen

IR FIAT HT TF HE HT 2,000 T IHE T TR

Bl o TSR i HIEA 87,400 T B| UNEHNTH & @

1 Af<aq faerm fe@m) (15)

7. Give a proforma of the Revenue Account of Life Assurance
Company along with necessary schedules, with the help of
imaginary figures.

T Staq S &9 & T @ R TH GEEI, STeRasw
syl & e, Heufie gl &1 FeEd ¥ 31 (15)

26319/00/KD/1442 5 [P.T.O.




8. The following balances appeared in the books of a Fire

Insurance company as at 31st March, 2018 :

Rs.
Expenses of management 2,31,900
Commission 2,27,000
Claims Paid 4,30,000
Loss of Exchange 5,000
Bad debts 100
Claims outstanding on 1.4.2017 5,20,000
Reserve for unexpired risk on 1.4.2017 3,08,700
Additional reserve on 1.4.2017 25,000
Premium 8,76,000
Reinsurance premium paid 30,000

Prepare in a prescribed form the Revenue Account and
Profit & Loss Account for the year ended 31st March, 2018,
after taking the following information into consideration
(Rs. in '000) :

(i) Claims covered under re-insurance were Rs. 10,000.

(ii) Commission due on re-insurance premium paid @ 15%,

were not yet recorded in the books.

(iii) Premium outstanding at the end of the year was
Rs. 20,000.

(iv) On 31st March, 2018 Claims outstanding were
Rs. 3,04,600.

26319/00/KD/1442 6



(v) Additional Reserve is maintained as before.
(vi) Create a catastrophe reserve Rs. 38,800.

(vii) Use imaginary figures as regards claims paid to
claimants in Indian and outside India and premium

derived from business affected in and outside India.

31 W, 2018 H TH AMA W1 FEA BT TR H
frafafea v e fTu .

PECE R IC ] 2,31,900
TR 2,27,000
P fehe T <@ 4,30,000
TFIES HI I 5000
©d e 100
1.4.2017 ! F&HMET T 5,20,000
1.4.2017 W IO Wifem & fau aRfer@ 3,08,700
1.4.2017 &1 sifafe e 25,000
it 8,76,000
T feran T A diftem 30,000

31 @, 2018 1 TH T8 % fou TSTE @ SR e R

B orer Tk Tauiftd &9 # SR &, frefafed SHe &6l

=M H W g (% '000 H) :

(i) YIS % ded HeR fHT T IE 10,000 T

(i) 15% &t R ¥ gram feu U qEeta dwifem | 3
FHIE ot TF dfedl | 9 AET fHAr W em

(i) o9 & 37q § TR WHEIH 20,000 . ol

26319/00/KD/1442 7 [P.T.O.



(iv) 31 ¥, 2018 &I &N A 3,04,600 T &l

(v) afdfe e 9edl &1 @@ 90 @ S 2l

(vi) ofusr fisd sMe-38,800 9|

(vil) 9RATT IR 9RA % 9l AR hl aE fohy T <@t
AR R § 3R 9Te gHfea e @ urw it
a9 o HIcHh TR HT ITAN H (15)

9. What is Liquidation of Companies? What are the various
methods for the winding up of a company? Also discuss the

methods of calculating the liquidator's remuneration.

IREETTE HT S HECE T IRTHNI 1 27 HEA B
oA & fau fafa= afe = 22 @i @, wRguus #
TR T MU %k dleRl WO ==l HL (15)

26319/00/KD/1442 8
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OBCM/M-21 26321

FINANCIAL MANAGEMENT
Paper-BC-403

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 comprising of five short answer type questions
carrying four marks each is compulsory. Attempt any four
questions from the remaining eight questions carrying 15
marks each.

e ;T wen | oo ufer oy SwE T ® SR Y
YO IR 3R] w1 ol fEd B WY e wel § 9
ol o) Wl & S Y, T W 15 ST el

1. Compulsory Question ( AfEE °9T)

(a) Explain the functions of Chief Financial Manager. 4

(b) What is the need of financial forcasting in a company ?

4

(c) What are the objectives of Inventory Management ?
4
(d) What are various types of Financial Plans ? 4
(e) Qualities of optimum capital structure. 4

(%) g&a fadia Jaee & &M@ ol e Hi
(@) Th w1 § T qeigam #1 . Se ugd 2
() Y YA ® R 7

26321//KD/1371 [P.T.O.



(%) foda AT fRae YER &1 B 22
(¥) sTgmoaH gt @< i faemmrm)

Define financial management. Discuss objectives and
functions of financial management. 15

foda gara &1 uftam <ifSw) fodia we & SEv9 W@
HE H GUA Hifu

What is over-capitalisation ? What are its causes ? Explain
briefly the effects and remedies of over capitalisation. 15

Afq YN0 N B2 TEH T FRO &2 A Yol F
JOE WS U™l HT GUH Hifeg|

What is meant by long-term finance ? Explain the sources
of long-term finance in a company. 15

et fad @ oMy w1 gHed €7 UE el o
efpeia fog & meEt =1 avle wifsw

What do you mean by capital structure ? Explain the net
operating income approach to capital structure. 15

gt @™ U vl w sty 22 O e & 9IS
Haer @ % fagid w1 sre wiful
What do you understand from dividend policy ? Explain the

factors which determine the dividend policy. 15

Y A Y SR F AU §7 onHrer fd @
fruifta =@ o acl T 9uE Rifewl

26321/KD/1371 2



7. What is the meaning of working capital ? Explain the factors
affecting the working capital requirement of a business. 15

FrEvie gt w1 @ oref 22 wh R & o wrEshe
IS 1 STETIRAl 1 GHMId G TG Heh] Hl AT
i)

8. A company is considering an investment proposal to install
a new machinery. The project will cost Rs. 50,000 with life
of 5 years and no scrap value. The estimated cash flow before
tax and depreciation are Rs. 10,000, Rs. 11,000, Rs. 14,000,
Rs. 15,000 and Rs. 25,000 respectively the tax rate of the
company is 55% and it uses straight line depreciation.
Compute (i) Average rate of return, (ii) NPV at 10% discount
rate, and (iii) Profit ability index at 10% discount rate.

Note : Discount factors at 10% are .909, .826, .751, .681
and .621 for the years 1, 2, 3, 4 and 5 respectively.
Tk HEE T e G fafrEeE e W e @R
TR AN 50000 T T W AT YA Wi oA sl
R TR W I T B 3@ W ¥ TH S
AAA The YR (T TE & &l TH ¥ Too)
10,000 %., 11,000, 14,000 %., 15000 % Td 25000 %.
FHAI: B FEA F FL H W 55% © U Eh R
TR W T O €1 T RIS (1) Y T eiEd R,
(i) Y5 TAIH G 10% B2 [ F, R (jii) IHRd
YIHiE 10% B |
AT : 10% BT R FRF 909, .826, .751, .681 3R .621
af 1, 2, 3, 4 R 5 wUw: T

26321//KD/1371 3 [P.T.O.




9. Calculate cost of debit in each of the following situations :
(i) Debentures are sold at par and flotation cost are 5%.

(i) Debentures are sold at a premium of 5% and flotation

cost are 5% of issue price.

(iii) Debentures are sold at a discount of 10% and flotation
cost are 5% of issue price.

Rate of interest on debentures is 10% and face value of
debenture is Rs. 100. Maturity period is 5 years and tax rate
of the company is 40%.

= oRfeafl & &9 & oFma | A e

() O UF ST W 99 WA © SR Tadd o 5%
T 2

() SEOT U 5% N9 W 9 WK & SR Yerdd e S
T T g w1 5% T

(i) SEOT U 10% W H W oW WM € AR JerA @
S R T ger # 5% T

FO T R AN F K 10% IR KT T H Y A
100 & B, 0 U3 1 GRusd iy 5 O © TS HEAE
F1 L H T 40% Bl

26321//KD/1371 4
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OBCM/M-21 26322

COMPANY LAW-I
Paper : BC-404

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory
comprising of five short answer type questions carrying
four marks each. Attempt any four questions from
remaining eight questions carrying 15 marks each.

AT ;. HE U YT R W FEew 1 sted ® fe
Ui U39 B YRR F T © SN TR FR w TH
2 WY o U H W HE WR YT ST TAE
YT 15 SR H R

1. Write note on the following :

(a) What do you understand by ‘Separate Legal Entity’
of a company ?

(b) What are pre-incorporation contracts ?

(c) What do you mean by Doctrine of Indoor
management ?

(d) What is Shelf-prospectus ?

(e) What is meant by Allotment of shares ?

fAfafed W A fag :

(F)TH HF & Yok Jufe ofae ¥ o
TR B

26322//KD/1437 [P.T.O.



(@) gaWeH % Y4 eEd # 82

(M) “erafr wEEw” ® fasid ¥ e w w12
(%) Seh-UfaeRT T 77

(T) T & oTeed ¥ F w7

What do you understand by a Private company ? Explain
the conversion of a Private company into Public company.

ol &9 © o9 w1 GHEd 7 TH TSN Hu &
TESe FOA H YREdA Sl A Hi

Who is a Promoter ? Explain the Rights and Liabilities of
Promoters.

TR B Tl ©7 Tddhl & MRl T qifal
e Fl
What do you understand by Memorandum of Association ?

Explain the clauses of a memorandum of association.

e dHEEg 9 oY F §Eed 7 une deifrm @

RN/ ESl hi TS Fi

What is Doctrine of Ultra vires ? What are the effects of
ultra vires transactions ?

“oAfueRl ® W wE” w1 fagid w22 “efver #
T FE" H R YA o7

26322//KD/1437 2



6. What is Prospectus ? What are the contents of the
prospectus ? Explain

yaeRe F 77 wEeRw w1 fawm-wnmierady w82
R W

7. What are Preference shares ? Explain various type of
preference shares.

THifusR 3w @ 2?2 fafem YRR % qEifrR e a6
AR

8. Discuss the method of issuing debentures. What are remedies
available to debenture holders ?

Fo-w & frma = fafuy &t fae=w = wmu-um
YRE H PBH § STER ST 27

9. What is a share certificate ? What are its contents ? Explain
the provisions relating to share certificate under Companies
Act, 2013.

TF FF YHR-TF 1 T THE! faug-gmi/eradsy w
2?2 FUR efuftm, 2013 F or<Eld oW WHOL-UA U
Hafud gEdH &1 AR Bl

26322//KD/1437 3
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OBCM/M-21 26323

BUSINESS LAWS-II
Paper—BC-405

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 (One) is
compulsory.

e : |/A U WAk S AU W §en 1 (T@)
afard 2

1. Compulsory Question ( 3 ar™d wv)

Write short notes on following :

(a) Implied Authority of the Partners.

(b) Rights of Outgoing Partner.

(c) Capital Account Transaction in FEMA.

(d) Objectives of IT Act, 2000.

(e) Features of Competition Act, 2002. (5%x4=20)
= w wfa fewfer fafe -

() WRRR & T SRl

(@) 3T BH (I 9H) A6 WERR & SAHER
(M B H T WR # e

(%) g WrenfrRt sfufrEm, 2000 & SEEEl

(%) gfamaent stfufram, 2002 +t fagremm)
26323//KD/1369 [P.T.O.




2. Can a minor be admitted to partnership ? Explain the rights
and duties of a minor partner under Indian Partnership Act.
15

FI AITCE HI WS H o S WERa 27 wRdE
TEER Afufem # eutr WERR % ARMER 9 Hded
FAET

3.  What do you mean by Dissolution of Firm ? Discuss the
methods of dissolution of firm. 15

w0 ® faued ¥ sMuw w1 AU 27 WU 1 guifg
(faerea) =1 faferai = =arenm 1

4. State the main provisions of Foreign Exchange Management
Act (FEMA). 15
foeht fafrma weiem sfufem (9m1) @ = TEuE w1
oA

5.  Write short notes on following :

(a) Authorised person in FEMA.

(b) Directorate of Enforcement in FEMA. (8+7=15)
e m g oot fag :

() & H efaspa =Rl

(@) % H Yaad e

26323//KD/1369 2



6. What is certifying authority of digital signatures ? What are
the legal provisions regarding regulation of certifying
authority under Information Technology Act ? 15

fefiteat exmeri & JoTorRat Wikehrr @ €2 AT Weifrht
sifyfem H qaoRRal WM & fEmE % "aY § &
e 87

7. Explain the provisions of Information Technology Act
regarding establishment and composition of Cyber Appellate
Tribunal. 15

o UEnfrEr Afufem W erdiefm stfusior W
TG TF G & o WEuE @7

8.  What do you mean by combinations ? Explain provisions of
Competition Act relating to regulation of combinations.
15

HAoH @ o e s 87 wiaendi sfufrm o
el e det weeE S s i

9. Write a detailed note on Competition Commission of India.
15

IRAE gfaeadl oM W Ut fawga fewoft fafaw

26323//KD/1369 3
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BCE/M-21 26251

FINANCIAL ACCOUNTING-II
Paper-BC-201

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions. Q. No. 1 is compulsory.

AT : U G FE TUH Y SifEr R

1. Compulsory Question ( 3 ard wy)
Explain following :
(a) Various types of branches.
(b) Difference between hire purchase and purchases.
(c) Accounting treatment of interest on drawings.
(d) Calculation of sacrificing ratio.
(e) Joint life insurance policy. (4%x5=20)
= &1 ae R
(F) fafe= 7R &t ImEm|
(@) v #9  FF § 9T &

() 3MEE W N HT wdwAl

(F) TN ST ki IO

(%) 99 Sfad & aiferst)

26251//KD/428 [P.T.O.



2. Journalise the transactions for debtors account with suitable
examples under stock and debtors method of branch account.
15

TR Ed i Wik T IR fafy & IRR 9h % o -
3 H gfaftesli &1 ITY I[N o WY qUH A

3. Define Goodwill. Discuss various types of Goodwill. Give
journal entries for goodwill at the time of admission of a
new partner into the partnership firm. 15

a1 9Ram 31 sEe fafv= yeRl @1 I &R
AERM ®H H T U 9EER % YAN W T &l
yfafsal =1 &

4. Differentiate between :

(a) Fixed and fluctuating capital accounts.

(b) Revaluation account and memorandum revaluation
account. 15

IR W
() Tl wd qRedeRia gsit @l
(@) JHgei @l U6 HARvEH YAgedi @l

5. On Ist January, 2018, A Ltd. purchased 4 cars from B Ltd.
on hire-purchase system. The total cash price of all the four
cars was X 7,15,000. The payment was to be made
T 2,00,000 on signing of the agreement and the balance in
three equal instalments of ¥ 2,00,000 each at the end of
each year. B Ltd. charges interest @ of 8% p.a. A Ltd. writes
off 10% as depreciation on the reducing instalment method.

26251//KD/428 2



A Ltd. could not pay the instalment due on 31st December,
2019 and seller took possession of all the four cars. Prepare
Ledger accounts in the books of A Ltd. 15

1 SHad, 2018 & A fafee 4 B fafiees 9 4 &R
R %9 9sfd W el I/ w1 1 | ThE goF
% 7,15,000 °m X 2,00,000 hT YIdH 38T T TEIER
F g AR 99 R gAE a8 & o= § T 2,00,000
F A9 TEA fHyd § A ofl B fafiee g% anfis
Y =9 9gd w2l A fafee wed g frvd wsfa w

10% BE safafEad w2

A fafees 31 fR@=R, 2019 & 39 foed &1 gOH =
F TR SR fawar 7 W FR AfMw o offl A fafee
F gl B @ SRl

6. KT Ltd having its head office at Delhi, invoiced goods to its
branch at Ludhiana, at 20% less than the list price which is
cost plus 100%. The cash sales were to be made at invoice

price and credit sales at the list price.

#d. e =1 g F@em fioet o €, St ot
QA e # O 9§, 9 R gl e god 9
20% FH T SHfE T GoI ARE +100% Tl TRS et
F ok oI W IR SUR fohl H G g W HA
2l

26251//KD/428 3 [P.T.O.



Stock at invoice price on 1-1-2019 60,000
(SfTs/h eI W TEfen)

Debtors (37&R) on 1-1-2019 50,000
Goods received from H.D. at invoice price 6,60,000
(I=7 &Ecd 9 diseh Jod W A i)

Cash sales (7% fsahT) 2,30,000
Credit sales (S4R ferhl) 5,00,000
Cash received from Debtors 4,60,000
GRE ¥ @ Jwe)

Branch expenses (IM@I & =) 85,000

Remittances to H.O. (& ®MEE & IHS)  6,00,000
Stock at invoice price on 31st December, 2019 88,000
(d5eh o W A< i)

From the above particulars, prepare Branch Stock account,
Branch Adjustment account, Branch Debtors account and
Branch P/L A/c for the year ending 31st December, 2019.

15
SN fafgd foeron €@ wmen wie @, e qHEse
AT, YT 3R @ SR W e | @ A, 31
feay, 2019 ® ¥9< B A a9 & fou

26251//KD/428 4



7. The following in the Balance sheet of A, B and C who were
equal partners :

T, f, SR W TN wRRR w1 e fefr e @
Balance Sheet
as on 31st December, 2019
Liabilities Amt ) | Assets Amt )
Capital (351) A | 1,68,000 [Building (va) |1,95,000
B 1,26,000 | Furniture (®=t=r)| 24,000
C 60,000 | Stock (&) 1,14,000
Creditors (T=R) 60,000 | Debtors 1,16,000

B/P (=7 fo=1) 33,000 [Provision 8,000 |1,08,000
General Reserve 70,000 | Cash (7<) 66,000
(HIERT H5 )
Employees savings| 30,000 [Bank (5%) 40,000
(FHAAT T =)

5,47,000 5,47,000

They agreed to take D into firm for 1/4th share on
Ist January, 2020 on following terms :

A D ®HH /4 e & fau 1 S, 2020 H oH
% R gu e vl W

(i) That D will bring in ¥ 90,000 for goodwill and
% 1,50,000 as capital.

D% 90,000 ®1 =Afd R gt T 1,50,000 TR
(i) That ¥2 of goodwill shall be withdrawn by old partners.
TH WERR STt Tfd w1 TR &

26251//KD/428 5 [P.T.O.



(iii) That stock and furniture be valued at 90%.

=ik Td HAER HI HEd 90% b TR

(iv) Building was valued at 120%.
o T HeART 120% R g

(v) Provision for Doubtful debts is of ¥ 16,000 in all.
Gy 3R 1 SEeH X 16,000 @l

(vi) A liability of ¥ 10,000 be created for bills discounted.
15

10,000 1 A MR W faet & faw s R

Prepare necessary accounts and new balance sheet.

AEvIF @ AR T frefa foeror &1 s

8. X, Y and Z were carrying on business with the following
assets with effect from 1-1-2019 : furniture ¥ 1,80,000;
machinery ¥ 7,20,000; cash ¥ 1,00,000; debtors ¥ 2,00,000
and liabilities nil. Their profit sharing ratio was 5:3: 2.
Capital was also in the same ratio. Y died on 30th June,
2019. His son claimed his interest in the firm.

T, 9 3R SE TH HeME ¥ 1-1-2019 ¥ f
Tofaa & WY 9RRR 9 BRI 1,80,000; TR
T 7,20,000; FHE T 1,00,000; TR T 2,00,000 AR
I A Ad fadqsH SFII 5 :3 :2 el gSit W
SOE ot I em A w30 M, 2019 H T B T
3% 9 7 ®mH H oaw fea wim

26251//KD/428 6




(1) Interest on capital @ 5% p.a. upto date of death.
TSt W 5% I 99w W § gg fafa a& =

(i) He was drawing @ ¥ 6,000 per month at the beginning
of each month. He was allowed to retain those drawing
as his share of profit.

9 W HEH & IE® H T 6,000 HT W Y M
W oMl 3 IR o H fewm um fem mem

(iii) Interest on drawings in to be charged @ 6% p.a.
SR W 6% ™ & X ¥ =S B

(iv) They had separate life policies for which premium had

been paid by the firm : X ¥ 5,00,000; Y ¥ 6,00,000
and Z ¥ 3,00,000. Surrender value for X's policy was
50% and Z's policy was 40%.
SR AT e ster w1 wifersdt ot foeenr difeem
w4 3 ol T w1 wieEt ®5,00,000; @
3 6,00,000 3R ST & T 3,00,000 fl TH FH
iferell 1 YU GeA 50% o Sefh S i HiferE!
<l 40% il

(v) Goodwill was valued twice of the average profits which
were 3 36,000.

A 1 godish fEd ol w1 < om en S fw
? 36,000 9l

Prepare Y's legal representative account.

Y & HH STHER 1w S|

26251//KD/428 7 [P.T.O.



9. PQR started a firm business on 1-1-2019 and sharing ratio
was 3 : 2 : 1. Their capital was T 6,00,000; ¥ 4,00,000 and
3 3,00,000 respectively. The partnership provided for interest
on capital @ 10% p.a. During 2019 firm earned a profit of
T 3,00,000 (before providing interest on capital). The
drawings during the year were P ¥ 1,00,000; Q % 1,20,000
and R ¥ 80,000.

They dissolved the firm on 31 December, 2019. The assets
realised ¥ 15,00,000 and Cash in hand was ¥ 1,50,000.
Creditors were of ¥ 4,20,000 which were paid off ¥ 3,72,000.
Prepare necessary account to close the books of the firm.

15
9, #, AR 7 1-1-2019 H HH H HEH Y& TR
3R N IS o1quE 3 :2 2 1 oM ST TGS T 6,00,000;
T 4,00,000 3R T 3,00,000 FHALT: ot W & FIER
Tt W =AW 10% ¥ oad em 2019 9§ % WA wH A
ISt W =S <9 9 Ued % % 3,00,000 <9 HHR T
# SR e % T 1,00,000; g % T 1,20,000 3R
AN & T 80,000

31 fegmR, 2019 & S=iH HH & FEHE & fA
g ¥ 15,00,000 H fawt SR qe T 1,50,000 il
TTRR T 4,20,000 & & o T 3,72,000 3 eTowaeh
e T e e v 9< 8 w9

26251//KD/428 8
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BCE/M-21 26252

MACRO ECONOMICS
Paper-BC-202

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory,
each part carrying 4 marks. Attempt four more questions
from the remaining eight questions carrying 15 marks
each.

e : wol UiE Y S I G T e 7, TS g
T 4 3ok 1 22 U9 378 YT § | g =W I HITSQ)
Y YT 15 HF w1 B

1. Compulsory Question ( IfTaTd-ug)
Answer the following short answer type questions. Each
question should note exceed one page :

frafafed @9 ST TR & T & I 30| J&h e
F IW TH 99 ¥ s T8 B =@feT

(a) Distinguish between micro economics and macro

economics. 4)

=Afte redeTed $iR wafie sreferes & e o= it
(b) Two sector model of an economy with financial system.

4)
srefeaTen & T &5k Aied & WY faxiid Yured|

26252/00/KD/476/Trans. [P.T.O.



(c) Technical attribute of propensity to consume. 4
UG A b AU ygfa wt qeArnl fawrea)

(d) Determinate of Induced Investment. @)
i@ freer &1 faufe|

(e) Various phases of Business cycles.

=R 9% & fafa= =7

2. Discuss the importance and limitation of macro economics.
(8+7=15)
THfte iefere &% Wed SR Hiwe &1 faee #R)

3.  What are the difficulties faced in the measurement of
National Income. Also discuss the precautions while
extimating National Income by Income Method.  (8+7=15)

T @ & W99 § WA 61 S Al HisAEal @4 €2
3 fafy gr A 3T 1 STEH oI 9T i GraEna
Ft off faa= wR

4. Define Investment. Discuss the factor which govern the
inducement to invest in a capitalist economy. (12+3=15)

T w1 gRefya &1 gSiamRt steferasen ¥ a9 & &l
Jon i A E 9 SR o fad=T w1

S. Explain Keynes' Psychological Law of Consumption.
What are its implications? (10+5=15)

HG H IUAN ® HASINAER OH H SR w THR
fafeaed = 22

26252/00/KD/476 2



6. Discuss the concept of multiplier. Explain its working.
(5+10=15)
U i STHYRUN &1 foe=dl w1 T8& HE HI A

e

7. Explain Keynesian theory of Income, Output and
employment. (15)
A, AR AN UNMN & &9 & Togra & =

EAIEIY

8. Discuss the causes and effects of inflation. (7+8=15)

AIERIfG & RN iR gumEl w1 faeEm wi

9. Explain Hick's theory of business cycle. (15)
e & =MIRe =% & (95 &1 AR H1|

26252/00/KD/476 3
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Time : Three Hours]

Note :

e -

1.

BCE/M-21 26253

FUNDAMENTALS OF MARKETING
Paper—B-203

[Maximum Marks : 80

Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions out of remaining
eight questions.

el Ufer Tl % SR ANy w9 " | stfEd 2
Y 33 H ¥ dE ff IR WA HifSu

Compulsory Question ( At ug)

(a)

(b)
(©)
(d)

(e)

Difference between marketing management and sales

management. 4
Importance of modern marketing concept. 4
Niche market. 4

Difference between consumer products and Industrial
Products. 4

Importance of Distribution Channels. 4

(F) foqom e qen fasea g e
(@) syfrr foque fo=amr w1 wew@|

(1) HeR W

(%) SUdIE SR qen ST Sl ¥ S|

(%) famor wewi 1 7|
26253//KD/429 [P.T.O.



What is Modern Marketing Concept ? Explain its usefulness

for developing economics. Give limitations.
smyfieh forqum foa=m =0t =aren wifsu)| fasmraeiia stefereeen
% fau soew STRIfEr SaEul S@EW gaRu)

What is Global Marketing ? Explain the impact of global
marketing. 15

e fauoe ¥ oM T 9WER § diew fauvH &
T T FUM HIfSC|

What are the objectives of Market Segmentation ? What

criteria are used for segmenting consumer market. 15

AR faufeeor & SEYE S ©7 SNl aS o
faufeeror v & fou f&7 emaml =1 v fean =
Hhdl © aaE?

What is buyer behaviour ? What is the nature of Indian
Consumer's buying behaviour ? 15

IYFEFT HIER N 7 ARG SUAIE % FHA FAER
F UFE N R?

“Packaging is an important part of the product offer.” Explain
and discuss why packaging is the 5th ‘P’ in marketing Mix.
15

“Iafe WD SR F UH HEWYU WM e 71"
i faqum fasmor &1 diwel P w9 2?7 SR

26253//KD/429 2



7. What are objectives of promotion ? Explain various methods
of promotion. 15

o & SRy dw §7 ged o fafi= fafuet e
RAT Hite|

8. Is it necessary to formulate pricing policy ? What are the
different types of pricing policies ?

1 god Hifq w1 fuRo s afeE e 22 fafi=
7o Hifqd w1 e &l
9. What do you understand by Channels of distribution ?

Explain the various factors that influence the channel
selection. 15

foaRor | W Mg o THEd B2 fawo WeAm % ¥Ae
F Yo & A fafa= I@ w AR Fifl

26253//KD/429 3
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BCE/M-21 26254

E-COMMERCE
Paper-BC-204

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

e ;. FA ulE T % SW AR T we 1 sfee

Compulsory Question ( 3Ta™ W9 )
1. (a) Define E-mail and File Transfer Protocol (FTP).
(b) Define DNS and URL.
(c) Write any four ways of cashless transaction.
(d) Differentiate DATA and information.

(e) Write any four benefits of M-commerce. (5%x4=20)

(F) 3 R FTP & IRy 3
(@) DNS @R URL %' ufRsfoq =il
(M) TR W@ TH-T F IR T o
(%) TR 9 Information ¥ 3R ¥TI= &l
(¥) M-commerce % iz ¥R o9 |
2. Explain various services of internet. 15
e ) fafay Qaet &1 avl W

26254//KD/430 [P.T.O.



3.  Whatis information system ? Write characteristics and benefit
of information system. Discuss role of information in
decision-making. 15

Al YOSl 1 €2 G yonelt ki et 9 e
SiRE IR LI i R I I (Ccalica B i

4. Why business need IT ? Explain effects of IT on business.
15

=EAE ® U IT #1 1 oTEvIddl 87 Haud W
AT THhAR h JEET w1 FUH R

5. Define MIS. Discuss its objectives, components and
limitations. 15

MIS &1 TR &Y 39 32T, Fa9dl 9 HHEeT &I
==

6. Explain following concepts with examples :
(a) B2B (Business to Business).
(b) B2C (Business to Consumer).
frafafea staumomet ®1 3SR |fed = wi:

(%) B2B (MR ¥ AR ) |

(@) B2C (AR 9 UeF aF) |

7. Explain components of EDI. How a document is transfer in
EDI and traditional system ? 15

EDI & ¥2%! &1 a0 3| EDI 3R traditional system H
document ! TEAFET HY HW &7

26254//KD/430 2



8. What is a need of security in E-commerce ? Discuss security
issues in E-commerce. 15

ThE W OGN h1 A SqEvIhdl 27 -hmd o el
TSRl & == W

9. What is E-Governance ? Discuss various challenges and
applications of E-Governance. 15

E-Governance =1 87 gHeh! fafq= wifqal o @
H qUHA I

26254//KD/430 3
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BCE/M-21 26255

BUSINESS MATHEMATICS-II
Paper-BC-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

e : wA uie WA wifSu wE gem 1 et R

(b)

(©)

(d)

(e)

Compulsory Question ( 3TFa™ o)

In how many ways can the letters of the word
“THURSDAY” be arranged so that R, S, D always occur
together ? 4

9
2
Find the middle term(s) in the expansion of (— + g) .
X
4

Solve the following inequality graphically :

2x £ 6 — 3y. 4

Explain briefly any two methods of collecting ‘“Primary
Data”. 4

Represent the following data by a Histogram :

Age 14-16|16-18 | 18-20 [ 20-22 | 22-24|24-26
Groups

No. of 40 90 120 60 30 10
Students

26255//KD/483/Trans. [P.T.O.



(%) ‘THURSDAY’ ¥ & 31eR &l fhad IR @
paferd fRar 1 g € fe® & R, S, D wuem

Th 919 YU S|?

9
(@)(3+%) % foar § 75 = & 9| s

X

() fAfafed SMET w1 MRS R A BT
2x <6 — 3y

(M) ‘‘wafaw HT'’ H THI FA HI H=l ar faf
FI Haq ¥ = i

(%) fecum gr frAfafad erikel w1 <erige:

3 |14-16 [16-18 | 18-20 | 20-22 |22-24 | 24-26
e
BET H | 40 90 120 60 30 10
e

2. (a) If"™!C, :"C,=11:6and"C,:"~!C, ,=6:3,find
n and r. Y2
(b) In how many ways can a hockey team of 11 players
be chosen out of 15 players so as to
(1) include 3 particular players
(i) exclude 2 particular players.

Also find the number of ways in which 11 players can
be selected out of 15 players. T2

26255//KD/483 2



(®)afk mIc, :"C,=11:6 3R "C, :"~IC, _ =
6:3, n 3R r F@ HifSTl

(@) & Tt M & 15 Toonftedl & 9 11 faafsal =
fha YR W YA W Hehal © i
(37) 3 favm foeret wnfgar =)
(F) 2 fovm faare @ @
g g 15 faenteal § ¥ 11 faenfteal w1 ==
FHE H TRl B G @t I FIfST

3. (a) The 2nd, 3rd and 4th terms in the expansion of
(x + @) are 240, 720 and 1080 respectively. Find the

values of x, a and n. TVa
(b) Find the term independent of x in the expansion of
10
Vi, B
\/_ %)

TV

(E)(x+a)”?ﬁﬁﬂﬁ{€ﬁ\,?ﬂ'ﬁi3ﬁ??ﬁﬁqﬁmz
240, 720 3R 1086 Tl x,a 3R n & A H I
EAIEL

()[://—_ ;/_] % R ¥ x & @=as € & AE

EqiSl

26255//KD/483 3 [P.T.O.



4. (a) Find the solution set of the system of linear in equations
graphically :

2x +3y <6, x+4y <4, x,y=0. 5
(b) Solve graphically the following linear programming

problem :

Maximize Z = x + 2y

subject to constraints :

x+y<20,2x+y<30,x<25, x,y20.

(F) TFsh &1 T ok FARETST TR B THEE
YT F it

2x +3y <6, x+4y <4, x,y=0.

(@) mirs ®9 § frm Wes dwfEn g9en w1 g«
EAIS

AT Z = x + 2y

ENGIRED
x+y<20,2x+y<30,x<25,x,y=20

5. A dietician has to develop a special diet using two foods P
and Q. Each packet (containing 30 g) of food P contains 12
units of calcium, 4 units of Iron, 6 units of Cholesterol and
6 units of Vitamin A, while each packet of the same quantity
of food Q contains 3 units of Calcium, 20 units of Iron, 4
units of Cholesterol, and 3 units of Vitamin A. The diet
requires atleast 240 units of Calcium, atleast 460 units of

26255//KD/483 4



Iron and at most 300 units of Cholesterol. How many packets
of each food should be used to minimize the amount of
Vitamin A in the diet ? Find the minimum amount of Vitamin
A graphically. 15

Tw MR foRiTe & 2 @@ el PSR Q ® Swm
Fh TH a9 ER TIR HE BEMM SH P ®
TO% Tk (30 UMW Fw) H wfwEm & 12 9fE,
I H 4 g, wiogd |1 6 I IR faafm A
H 6 g €, Sefh HiSH Q I WA WG % Uhe W
»fevag ®1 3 I, SERA & 20 FHE, FoEiA H 4
gz R faaft? A #1 3 g e € omR ¥ &4
T #1240 Ife Hfevem #1, oA F oAfuw @ afusw
460 IR IR womga w1 oAfE ¥ sfum 300 IR
F1 SAEYIHRA T Tl SRR ¥ faafd A &1 Ae1 w wH
A P AU y&w AqeF % fwed Ime w1 swm fwa
ST =AUl WMither €9 ° faefid A & <A 9 9|
F

6. (a) What do you mean by exclusive series and cumulative
frequency series ? Explain with the help of an example.
5

(b) Convert the following frequency table into (i) less than
form (ii) more than form. 10

Marks |0-10( 10-20 (20-30 | 30-40 | 40-50 | 50-60

No. of 3 9 15 30 18 5
Students

26255//KD/483 5 [P.T.O.



() eTqersi 9oft IR Heel IRaRAl YTl W YR F4

AfTYE B? ITETT HT WEEA U SRS HIfST

(@) fr=fafaa smgfa aifeer &1 =€l (31) &7 &9 H

(F) o w9

Fwm [ 0-10 | 10-20 |20-30 | 30-40 | 40-50 | 50-60
BE R | 3 9 15 30 18 5
&

7. (a) Represent the following data by means of a Pie

TV

diagram :
Items Cost (in '000 Rs.)
Cost of Bricks 50
Cost of Cement 60
Cost of Labour 30
Cost of Timber 50
Miscellaneous Expenses 10
Total 200

(b) Draw a Sub-divided bar diagram of the following data :

Year 2014 2015 2016
Wheat 10 11 14
Rice 8 9 13
Sugar 6 7 8
Total 24 27 35
72
26255//KD/483 6



(%) f=1 Aiwel & UE ARE & WA W YK hifaU:

THT AR ('000 & H)

EC ] BRI 50

HHe ® ArEa 60

g9 H1 AN 30

kel I AN 50

fafaa @<= 10

el 200

(@) f=fafga siskgl o1 IUfITSd 9k @ 3AfRd

HIfIT
EL] 2014 2015 2016
T 10 11 14
EIEN] 8 9 13
EIEL 7 8
EXN 24 27 35

8. (a) Draw a ‘More than Ogive’ curve for the following data :

Class 10-20 [ 20-30 [ 30-40] 40-50| 50-60 | 60-70] 70-80
Interval
Frequency 8 15 20 35 12 7 2
T2
(b) Represent the following data graphically :
Year 2012 | 2013(2014 (2015 |2016]2017|2018
Quantity 200 [ 180 ( 110 | 250 [ 270 | 170 | 230
(in '000 tonnes)
Price 18 7 10 [ 20 [ 25 11 | 15
(in '000 Rs.)
T2
26255//KD/483 7 [P.T.O.



(%) Fefafag 21 & faw ‘dror 9 v’ g% oifda

el 10-20 | 20-30 | 30-40 | 40-50|50-60 | 60-70|70-80
AQgid | 8 15 20 | 35 | 12 7 2
(@) wfther ¥4 ¥ frAfafad sTissl i IIMET ¢

EL] 2012[2013|2014 | 2015|2016 | 2017|2018
= 200 | 180 | 110 | 250 | 270 | 170 | 230
(00029 H)

e 18 7 | 10| 20| 25| 11| 15

(000, H)

The table given below provides the production of number

of pairs of shoes (in thousands) by six shoe companies
between 2014 and 2018. Answer the questions given below

1t.

Company Year

2014 2015 2016 2017 2018
A 115 160 145 229 169
B 318 205 188 296 218
C 196 218 190 247 259
D 145 289 235 274 278
E 157 299 246 308 268
F 235 310 266 332 295

(1) Find the approximate percent increase in the production
of company E from 2016 to 2017.

26255//KD/483
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(i) Find the average production (in thousands) of all the
companies in the year 2015.

(iii)) The total production of Company A for all the given
years is what percentage of the total production of
Company B for all the given years ?

(iv) What is the difference between the total production of
all the companies in year 2018 and the total production
of all the companies in year 2014.

= T dfe #2014 § 2018 & AT B S
FHIE ® S SaRd (B9 H) % enkg Ry g AW
few M g w1 s Sifsm

FHEAT Y

2014 2015 2016 2017 2018
A 115 160 145 229 169
B 318 205 188 296 218
C 196 218 190 247 259
D 145 289 235 274 278
E 157 299 246 308 268
F 235 310 266 332 295

(F) 2016 F 2017 T HFA E & IART H 9T
gfaed gig I IS

(@) ad 2015 § |t FEE $ o 9d IO (F9R H)
I @ Hife

26255//KD/483 9 [P.T.O.



(M) fsu @ aft I § HEA A F KA SERA [{Y T
gft g H HEAT B % R SARA 1 foRa
TR 77

() T§ 2018 H TH FElE F KA IORA R T
2014 ® 9W FWAA ® KA SURA F® AE H
I F T2

26255//KD/483 10
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BCE/M-21 26256

BUSINESS ENVIRONMENT OF HARYANA
Paper-BC-206

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.

A ;. H Ui Y B SR AL w9 gE@m 1 stfEd 2
I |t weE & Sk GHH B

1.  Write short notes on the following :
(a) Declining Sex Ratio in Haryana.
(b) Cropping Pattern of Haryana Agriculture.
(c) Objectives of NABARD.
(d) Role of MSME in Haryana.
(e) HEFC. (4x5=20)
fiifelfad W oy e fafan ;
(%) gfamon # = fermgam
(@) g wfh w5 wua ggfal
(1) e ® I

() s H# THTETHE w1 A
(%) Tw.H. (HFC).

26256//KD/431 [P.T.O.



“The economy of Haryana has attained the excellent

development since the inception of the state.” Do you agree?
15

“gfmm ot etefemewen ¥ T % HHE 9 O3 fassR
FH U fRE 82" F 9 THY Hend ©7

Discuss the nature of economy of Haryana. 15

BRATN &l sTefasel &1 Hfd &1 9 &

What is the status of Health and Nutrition in Haryana ? Give
an analytical view of health programmes and schemes in
Haryana. 15

e § e der Wwer w1 s feefd ®7 wfEmn o
FTIFRAT qA ThE FT @R & Ged H favewor #l
What are the types of agricultural credit ? Discuss the
importance of agricultural credit in Haryana. 15

Ff g & faf= vR SH-9 22 sfEmn § sy 9w
® Hed H U H

What is Rural Indebtedness ? Describe the bebt relief
measures in Haryana. 15

T wvmfeE @ €2 st § fw moww wea
IR HT FUE HI

What is Multinational Corporation (MNC) ? Explain various
problems associated with the MNC's in Haryana. 15

JgUEE Frm w o afim €2 sRamn § agusm
fm @ wefua fafe= gee sE-@ €2

26256//KD/431 2



8.  What is HKVIB ? What are the objective of HKVIB ? Discuss

its various schemes. 15

AR, R 27 THH F W ©7 THHT fara=
AR T FUE I

9. Discuss the salient features of Haryana Budget, 2020-21.
15

gfEmn S92, 2020-21 H @ fovE@et w1 oguHE i

26256//KD/431 3
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BCE/M-21 26267

COMPUTER APPLICATION 'PROGRAMMING IN C'
Paper-BC(VOC)-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

e : Ho g G HIGY YA G 1 AfEE 2

Compulsory Question
(rfrard gv)
1. (i) What is difference between structure and union?

T 3R T & 9 F: SR @2

(ii) What is pointer? Explain with example.
TIF 1 7? IRk T AR H

(iii) Explain difference between while and do-while loop.
while 3R do-while o4 & = =R HifeQ)

(iv) What is premitive and non-premitive data type?
A 3R WY 2 TR @2

(v) Explain any two preprocessors directives in C. (4x5=20)

C # fogl o dium e &t s w1

26267/00/KD/468/Trans. [P.T.O.



2. (i) What is data type ? Explain different data types in
details with suitable example. (8)

221 YR F1 =2 fafe= 2o gl & faear 9 32
T Y AT H

(ii) Explain basic concepts of C language and write a

program to print first 10 even numbers. @)
C 9T 1 A STaUReneti ®i S L qe gl
10 99 gl ! qfsd & & fau & 9w fas)

3. (1) Write a program of swapping of two numbers using

third variable. @)
TR =R T ITAN HH I GEART i STRA-Igal hl
g fafem)

(i)) Write a program in C to find area and parameter of a
circle. (7)
TH I9 1 9% I IRET 7@ w0 % faw c o
g fafem)

4. (i) Whatis array? Explain the declaration and initialization
of one and two dimensional array with example. (8)

W R B2 TH AR Y AEH W HT EEOM &R
AR 1 IIELOT o Y AR Hi

(i)) Explain any five string manipulation library function

with example. @)
foreel wiw fgn AfYeTE sl BaeH 1 SR B
oY A R

26267/00/KD/468 2



5. (1) Explain how structure variable passed as a parameter
to a function with example. (8)

T Rl G & ufEn % ®9 § %9 uia
g, 3TEIU & | AT HR

(i) Write the guidelines to use printf() and scanf() function
in C language. (7)
C W # ffeuw() iR Whuh() HaRM 1 STAM
FH & foau faen few fafe)

6. (i) What does storage class means? Mention different
storage classes available in C. ()

VRS FAE 1 1 AT 81 CH IYeAey Tafq=
RS FAM BT SoelE i)

(i) Write a program to find sum of numbers from 1 to n.

(7)
1 ¥ nT% & G & AN IW wH & AU
g T
7. (i) What is recursion? What are its advantages? (8)
firda = B2 TR N WER @72
(i)) What are keywords? Explain any five in detail. (7)

# g€ F 1 22 fRdl ulw # fawR § =ren w1

8. (i) Explain the difference between function definition and
function declaration. Explain with suitable example.

(8)

HRM SRAYE 3R wavr feaeler & 9 o= &

AT Y| ITIH 32RO & WY AT Hl

26267/00/KD/468 3 [P.T.O.



(ii) Write a program to read a line of text and output the

number of words and characters. @)

e i Trel ofer 1 YeH IR YRl SR AUl HEd
HI TRE FE b fau = wm fafem)

9. (i) Write a program to check number is odd or even. (8)
Te favm € O T T WY e & fau uw e
fae|

(i) Explain selection standards in C language. @)

C 9 H =¥ A% 1 A Hil

26267/00/KD/468 4
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BCE/M-21 26268

COMPUTER APPLICATION
(Business Data Processing and PC Software-II)
Paper—BC (Voc) 206

Time : Three Hours] [Maximum Marks : 80
Note : Attempt any five question. Question no. 1 is compulsory.

AT : fEEl uie e % SWw dfSu e gen 1 st
2l

1. Compulsory Question ( 3TFaT™ Wy )
(a) Name any four views in PowerPoint
(b) Write 2 features of MS-word and 2 of PageMaker.
(c) Write 4 advantages of Mobile applications.
(d) Discuss Table handling in PageMaker.

(e) Write 4 major differences between PageMaker and MS-
Word. 20

(%) TEdEe ® fF= uR faan & 9w fatau)

(W) THUE-9€ 3R UsHeY % d1-ar foavman fafau)
(1) HiEEd SN % W wrEE % e

(9) TS § 9RO HeEeE o fagemr i

(T) T 3R TATE-9E B A9 uR & IR
fafam)

26268//KD/484/Trans. [P.T.O.



2. In context of Word, discuss :
(a) Spell Checker.
(b) Clip Art.
(c) Text formatting.
(d) Inserting Images. 15
a€ (Word) & ¥Hed # fag=mm =% :
() o TherR|
(@) fem &)
() TF= wE|
(=) sfai =1 i &

3. (a) Discuss software and hardware requirements for DTP.

(b) Explain use of Table handling in Word. 15
(%) DTP & fU ToeawR R T F1 Tavashara
T == I

(@) g€ | qifershT S9SN S gHEEul

4. (a) Explain use of SPSS in data analysis.

(b) in context of Excel, discuss any 4 mathematical or

statistical functions. 15

(%) g1 faveimor § SPSS & SYAN i RS Hi

(@) wEa & G4 ¥, fFel =ur w1 aifes
®E H a1

26268//KD/484 2




5. (a) Make a Slide show using 5 different styles of

PowerPoint.

(b) Discuss :
(i) Use of custom Animation.
(i) Insertion of Pictures.
(iii)) Sound effects.
(iv) Use of Notes. 15

(%) dleauEe w1 5 fafq= Afed w1 ST e TH
TES I S|
(@) form=r + -
(1) HEH THIH HT ST
(7)) feoi =1 wfafie
(&) = gomE|

(%) A=E =1 YA

6. (a) Explain Page setup in MS-Word and PageMaker.

(b) Discuss indexing and pagination in MS-Word and Page-
Maker. 15

(%) THUE.-TE 3R Ui § U9 939 &I SRS HL

(@) TATE.-92 IR Uomet § sefed ok Ifeem ot
IEEERIET

26268//KD/484 3 [P.T.O.



7.

Explain concept of Mobile applications, discuss types and
sources of mobile applications. 15

HEaEa FTIYANT HI YR & AT HL| HEEd
IAFEM & THR AR HEwH H fEeA W

Write note on :
(a) Advantages of PageMaker over Word.
(b) Differentiate MS-Office and Open-Office.

(c) Data Sorting in ascending and descending order in
Excel. 15

f w e fafau .

(%) o€ T USHAL & A9
(@) TH.UE.-31fFg eiR ofH-enfrg & o
() THRA § SRE SR eld %9 § 2@ wie

Explain use of PageMaker as DTP software. 15
USHRY & STAN H T GRR & I H A H

26268//KD/484 4
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BCE/M-21 26269

SHORTHAND (ENGLISH) THEORY
Paper—-OMSP-BC(VOC)-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

e : w5 uE g % SW AR g we 1 sfee

(b)
(©)
(d)
(e)

Compulsory Question ( 3T a= WgT)
Write a short note on Triphone.
Define Stenography.
Explain rules for initial circle ‘S’ and medial circle ‘S’.
Explain the number of consonants.

Write any four simple phrases used in shorthand.
(5%4=20)

(%) TE®H R TH Hiew feooft forl
(@) WAt &1 a1 g
(M) mfaF circle ‘S’ 3R TeAad! circle ‘S’ & fomt @t

= W

26269//KD/434 [P.T.O.



(9) =FSHl i T& GHAN|

(T) ARYfAT H YA 8H Al s IR WHMRO phrases
fera

2. Explain the vowels in detail.

= 1 famr | o9viF &

3. Explain Phraseography in detail.

A

hiSTET &1 faar ¥ 9 a1

4. Explain initial and final Hooks with examples.
SR wd oAfaq gFd Hi I3 dfed AR B
5. Explain the origin and importance of stenography.

WA & IZHT TF Hed I dUF i

6. Explain Loops and Hooks in detail.
‘qu’ R ‘g’ w1 famngds avf =l

7. How we can take notes on shorthand ? Write the techniques

and material required for a stenographer. 15

A Aty o ey fhu YeR o Uhd &1 U Sfetus
% fau dF SR WM K W a9 9mE % SN o
A |

26269//KD/434 2



8. Define ‘Grammalogues’ and write any ten grammalogues
used in shorthand. 15

‘e’ ot fa@ iR syfeift W wEm R
FE T/ AHEE g

9. Describe upward and downward strokes in stenography.
15

amrfafy o upward 3R downward e Wi =A@ Wi

26269//KD/434 3
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BCE/J-21 26270

LIFE INSURANCE-II
Paper-BC-(VOC)-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

e . wo UtE YA % SW AN 9 | s e R

1. Compulsory Question ( 3rfrard-ug)
Explain the following in brief : (5x4=20)
frefafea #1 dag § samen Sy -
(1) Individual Life Insurance Policy.
SR Ste ST it
(ii) Insurable Interest.
atar A el
(iii) Life Insurance Fund.

Saq «tH T S

(iv) Life Insurance Broker.

Sfraq st| T <At |

(v) Rules of Agency.

T & fem

26270/00/KD/1443 [P.T.O.



What is Life Insurance? Explain its advantages and
disadvantages. (15)

St T @ 27 U o1l TE Bl i SATEd ®ifSul

What is meant by Life Insurance Policy? What are the
different types of Life Insurance Policies? (15)

Stre ot uiferet o1 s s1ed B2 e & uifatea @
fafe= YR SH-%H1 9 27

What do you mean by Annuity? Also discuss the various
types of Annuities. (15)

Tiftfert § maeRT P SAfqur 22 aftfert =) fafa=t g w1
o «ft Hifsu

What is the meaning of Claim Settlement Procedure?
What are the various steps for the settlement of Life Insurance
Claim? (15)
e frert swrEifafy &1 w7 oref 87 Siew offm 3@ & fwer
# 9 § HIH-9H 9 S0 8 B2

What is meant by Insurance Agent? What are his rights and
duties? (15)
a1 TS w1 9 oref 22 SHe A fueR U whded 72

What do you mean by Insurance Salesman? What are the
qualities of a good Insurance Salesman?

iy foshar @ M9t o SAFAUTE B? Uk oT=s oi° fasdn
¥ HiA-HME ° 00 B €7

26270/00/KD/1443 2



8. What are the various intermediaries in the field of insurance?
Also explain the role of these intermediaries. (15)

% e | fafa= Aoy wA-99 9 22 39 neeel
gfert &1 9o *ifSw)

9. What procedure is adopted for taking Life Insurance Policy?
Explain. (15)
Sfrem <fan wiferdt o & fore -5 gfean sToare S 22

AR HITT|

26270/00/KD/1443 3
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BCE/M-21 26271

GENERAL INSURANCE-II
Paper — PPI-BC-206 VOC

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 comprising
of five short answer type questions carrying four marks
each is compulsory. Attempt any four questions from
remaining eight questions. All questions except Question
No. I carry 15 marks each.

die @ HA urer YAl 1 IW AN T F 1 H AR (4) Rl
® T o W YRR % YA ] i fhe g €, T
¥ gk ffard 21 9 ore gel ¥ 9 fRet o e weAt
HT IR ST I F&A | B BER TIAH T
15 @i =1 2l

1. Compulsory Question

stfrerd gew

(a) Define the term Multiple Line Insurance. 4)
THITYeh g 9 T8 1 aRAfea )

(b) Explain the types of Liability Insurance. 4)
@ A ® YRR H IR H |

(c) Explain the Organizational Structure of GIC. 4)
SR, % IS Te H AT HI|

26271/00/KD/418 [P.T.O.



(d) Explain the features of Non-Life Insurance. 4
TR-Sfte sftmn = fagioae SR
(e) Explain the term Hull Insurance. @)

TA ST V&8 i AT HifSd|

Define General Insurance. Explain different types of Policies
issued by General Insurance Corporation in detail.  (15)

T 9 R G w1 SR 3YIRE RORYE g
SR fafy= R &t ifesl & R § famr 9@ san)

Explain the procedure for settlement of claim in case of
theft of vehicle. (15)

IET I A § @ & 9eH S YA S gHemEu

Explain the term Health Insurance. Is any benefit available
to individual regarding health insurance under Income Tax?

(15)

e T Vg ki ATA] HIfTU| 1 3TIRT & d8d
ey i % an ¥ Rt =afE # FIE oy Iy 77

Explain the various types of Aviation Insurance policies in
India. (15)

geq ° fafy= ywr &1 fauma & uifafea & 9R o
Eaid

26271/00/KD/418 2



6. Explain the following : (15)
(a) Project Insurance.
(b) Group Health Insurance.

frefafed s =arenm =t .
(31) ST <
() 98 Toreed &

7. Explain the term premium. Explain the factors for premium
rating. (15)
W en &1 e w®) Wi W & wRw @l
HHARUI

8.  What are the various schemes and plans of Rural Insurance
in India? (15)
qd ¥ grror e e fafas g e e

9. How would you do Social Marketing for Health Insurance
Industry? (15)

MY TR o 3N % fou gt fauom 9 w2

26271/00/KD/418 3
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BCE/M-21 26272

MARKETING COMMUNICATION-IIT
Paper—ASPSM-BC(VOC)-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.
AT ;. R/ U WA B WA G 1 e 2

Compulsory Question ( 3Ta™ W9 )

1.  Write short note on the following :
(a) Communication.
(b) Online advertisement.
(c) Market segmentation.

(d) Consumer.

~ &~ &~ >~ B+

(e) Types of marketing communication.
1 = dfea e fag

(F) 9=R|

(@) e fo=r|

(M) R fagfeero

(%) SaHrERT

(%) fauom HaR & YHR|

26272//KD/435 [P.T.O.



What is meaning of marketing ? Explain the various

component of marketing. 15

fooom @1 Fn wted 27 fawom & fafa= feedi w1 9ol
=y

What is marketing communication ? What is need of it ?

How it can be made more effective ? 15

fooum HER 1 N o7 8?7 THH! T SMAYAHKAT BT B2
W i gWETell R YRR SR ST Wbl @2

What is meaning of advertisement ? Explain different
methods of advertisement. 15

formoe w1 = a1 22 fammA =1 fafa= fafmi =1 =0
=y

What is meaning of target market ? Explain the process of
selecting target marketing. 15

M SR 1 g e 8?7 THH! YA AHAT w1 UM
STl

What is marketing strategy ? Explain the various methods
of formulating it. 15

IR JEtE w1 o o ¥ e fuifm ww &
fafg= fafti &1 avlA wifsl

26272//KD/435 2



7.

What is the difference between ?
(a) Advertisement and Publicity. T2

(b) Sales Promotion and Personal Selling. T2
e § wn oemR R?

() To=o= den dfsafad

(@) fora dadq qan =AfwRE fasa

Write detailed note on :

(a) Public Relations. T2
(b) Process of Integrated Communication. T2
= W fawga e fag .

(F) ST |

(@) Thikd HAR 1 FihAll

What is meaning of integrated communication ? What are
the main tool of it ? 15

THIFd TR H 7 e T TR G ad M F?

26272//KD/435 3
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BCE/M-21 26273

CREATIVITY IN ADVERTISING-II
Paper—ASPSM-BC(VOC)-206

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt five questions in all. Question No. 1 is
compulsory. Attempt four more questions from remaining
eight questions.

el Ufer Tl % ST ANy w9 g | stfEd 2
Y 8 T W G W S WY it

1. Compulsory Question ( 3 ar™d wv)

Write short notes on the following :

(a)
(b)
(c)
(d)
(e)

Role of creative team in Advertising.

Message source in Advertising Process.

Topical copy.

Internet Ad-Copy.

Blurbs. (5%4=20)

frefafea w wfaw fewfar fafe :
(%) foaod H goAreTs W & el

(@) foqmA ufewar ¥ Hew 9l

26273//KD/436 [P.T.O.



(A1) YT gaei widl
(1) Zere fasmua wfal
() =4

2. What do you mean by Broadcast Advertising Copy ? Explain
the various types of Broadcast Ad-Copy. 15

JORY faede Ui o STUeT &R Sifqu™ 7 fafte TR
I JERO G ® SR H 9dEu|

3. Discuss the importance of Advertising message. What should
be considered by an Advertiser while selecting an Advertising
Message ? 15

oo 99 % We@ % 9R H daRUl 93 @ 9AE
F g9 foRmoAeal g0 &9 ac & & § W
=fgu?

4. Explain the following :
(a) Illustration in Ad-Copy. 8
(b) Slogans/Jingles. 7
frefafes — feooft ==X
(%) fommm ofd & gem fom
(@) I

26273//KD/436 2



5.  What is Advertising Appeal ? Explain the different types of
Appeals used for Advertising. 15

fomo el § s sifqum 27 fom § Tde @M
e faf= ordiel & IR wawEul

6. Define Transit Advertising. When is it used ? What factors

should be kept in mind while selecting Transit Advertising ?
15

e farE w aRefya ST g9 w9 WA fee
S 8?7 URTHA foRTH T g i gEE R e
HT E W SHE A8

7. What is Advertisement Copy ? How many types of
Advertisement copies are there ? 15

oo wia = €7 foRmuA Wil feha WeRR Wi @l €7

8.  What do you mean by e-Advertising ? Explain its role and
importance. 15

oA @ oMU F iy 2 SO ufie 9 wed
® 9] H FdRu

9. Explain the layout of print Ad-copy. What are the principles
of an effective layout ? 15

fife fommm wfe =) T W@ w1 = w TEH F9E
wE % fagra = 82

26273//KD/436 3
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OBCM/M-21 26342

MARINE INSURANCE
Paper—PPI-BC(Voc.)-405

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory and each part of it carries
4 marks. Attempt four questions out of the remaining
questions carrying 15 marks each.

M . U e | e ® odun U YT 9T 4 3TeR!
H T T W 9 TRl W e % Sw e
Y% W 15 3R W R

1. Compulsory Question ( AfEE °vT)

Explain/answer in up to 1-2 pages length each of the
following :

(a) What do you mean by 'marine insurance'

(b) What are the various clauses of marine insurance
policies ?

(c) What is a total loss under marine insurance?

(d) Define PPI policy.

(e) Define lost or not lost clause.

frfafed @ &1 1-2 I81 § OFeREy/3| I ¢
(%) T G o a3

(@) Tt w uifreE & fatae aiese e @2

26342//KD/1357/Trans. [P.T.O.



() W W el el B A ©?

(%) WH.eTE. (PPI) Wifaelt &1 9Reiftm wwifsa)

(F) TR 3N A1 &l WRN gRN SR ] uRHftd whifen
2.  What are the subject matters which are insured by marine

insurance? Explain the procedure for obtaining marine
insurance protection policy.

pets et - O 1 or M e B e | PO ot )
W TIferel W A T AR FHEE

3. Explain the essential elements and principles of marine
insurance contract.

T S gAY & STEvasd dl ad sl Sl geeEu

4. What is a partial loss?. What are maritime perils? Define lost
or not lost clause. Explain the relevance of insurable interest
in the case of marine insurance.

Hfeeh B 1 87 W Wl 0 €2 B A B TRl
=S i AR HIfTl gl &im & AW | o
I feq ® WEiRd w1 THET

5. Explain the procedure of claim settlement in marine
insurance. Describe the various documents required for
claiming marine losses.

Tt T H gEn RO i AR i WHesyl HE
A &1 I FH & fow omewas fafy=m swmEst &
U hifer

26342//KD/1357 2



6. Explain each of the following in 200 word :
(a) Brief history of Lloyds.
(b) Limits of liability.

(c) Vessel and cargo insurance contract.

frafafed 9% &1 200 51 H GHIEY :
() oiiagd =1 Hierw gias|
(@) <@ H HE
() SIE qA wEN S ST
7. Describe the following :
(a) Different types of Vessels.
(b) Shipowners' liability.
(c) Marine policies and conditions.

(d) Attachment and termination of risk in Marine insurance.

frafafad @1 9vH SN :
(%) faf= 9o & w@IS,
(@) 8IS W@ T 3,
(M) wg wfafesr wd e,
(%) Sl i H gk qen Sifed w1 gl

26342//KD/1357 3 [P.T.O.



8. What are the documents needed for payment of marine

losses? How to make valuation of loss salvage?

gt Tl & e & foaw feR Swest # stavaeshar
Tedt 8?7 wfH W@ WUl 1 HediRd S9 Fd 82

9. Explain the following types of marine policies in very short :
(a) A Voyage Policy.
(b) Time Policy.
(c) Open (or) Unvalued Policy.
(d) Floating Policy.
(e) Single Vessel Policy.
(f) Fleet Policy.
freafafed vl &1 9qt wfafaal & sifd deg o
HHEATRT :
(F) T o aiferdi
(@) 999 Hifers
() HoK A SR Tfer|
(%) dfteda arfer
(¥) Tohel e WiferHt
(3) Tifeast e S

26342//KD/1357 4
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OBCM/M-21 26343

INSURANCE, FINANCE AND LEGISLATION-II

Paper—PPI-BC (Voc)-406

Time : Three Hours] [Maximum Marks : 80

Note :

e -

Attempt five questions in all. Question No. 1 is compulsory
carrying 4 marks each. Attempt four questions from the
remaining 8 questions carrying 15 marks each.

FA U T ® IW AW WF Fem | st @
g U U 4 3F FT B V9 8 U B ¥ WR
YO HIFT YE T 15 3R T B

1.  Write short notes on the following :

(a)
(b)
(c)
(d)
(e)

Principle of cause Proxima.
Residuary Dividend.

Insurance Reserve.

Difference between LIC and GIC.

Investment company.

frefafias W wfaa fewfrl fod :

(%) Feheam wrRoT *1 fagial

(T) afer s

(M) S E=

() Sfte o\ fem den g | e H s

(%) e ol
26343//KD/1459 [P.T.O.



Write detailed note on Life Insurance and its growth in India.
15

Stem dm W TE faga e fae dun 9Rd § s+
for & IR H T

What do you mean by Insurance Surplus ? What are its
sources ? Explain. 15

o TOd W ST N WHe &7 T fafee wa @ 87
e i
Write a detailed note on the functions performed by Export

Credit and Guarantee Corporation Act. Give some
suggestions for making ECGC of India more effective. 15

IRdE a0 = e & wEl S f9mR 9 9an)
T fys JuERTelt a9 % fau gee <t

What are the main provisions of GIC Act. 15
g i e sifafem @ e wedE s 82

What are the provisions of IRDA Act, 2000 regarding duties,
powers and functions of Authorities? 15
s e w fam wivestor etfufaem, 2000 & Sfala
fafg= wfereoll & wdea, wfsmal don @@l ¥ Hafua
W R?

What are the basic principles of investment of Surplus and
Reserve ? 15

A S=a R d=w @ frav weft fagim w22

26343//KD/1459 2



8.  What are the different provisions regarding investment under
Indian Insurance Act, 1938. 15

O S Stfufed, 1938 & favia fewt § wefug
o= wEaE = 82

9. What do you mean by Investment Policy of LIC? What are
its objectives. 15

St o frm @ fafmm A 9 e w0 g 2
T YT N F?

26343//KD/1459 3
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OBCM/M-21 26344

ADVERTISING-II (ii)
Paper—BC-(Voc)-405

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions from the
remaining 8 questions, carry 15 marks each.

qe : HA UF WA B SN I WA e 1 e T v
ame Tl H W =l uR ¥ % SW | T WA
15 SRl 1 2
1. Compulsory Question ( 3 ar™d wv)
Answer in brief :

(a) Why pre-testing of Advertising effectiveness is
important ?

(b) What do you mean by Advertising Agency ?
(¢) Functions of Advertising Deptt.

(d) Give any four examples of unfair trade practices
regarding advertising.

(e) Objectives of establishing the Advertising Standard
Council of India. (ASIC) . (5%x4=20)

Y9 o S T
() oA & guE w1 qE-wlen i weey 82
(@) oo TSRt 9§ STeR RN AU @72

26344//KD/1447 [P.T.O.



() fomm favm = =@ fag|

() T @ gafuq e =R UfRd & wE =R
IR

(¥) ASIC &I TIUET & 33T

What is the need of Advertising Department ? Write in detail
the organisational structure of Advertising Deptt. (5,10)

foma fauam &t w1 eTmewIsar 27 fam fawm @
HISAHAS g9 hT U R

What is meant by measuring the effectiveness of advertising ?
Discuss the important and difficulties in the evaluation of
Ad-effectiveness. (3,6,6)

T &) gwrereiielar 1 W99 9 RN SfaurE 87 TEeR!

9+ 1 Hewd o fSgehdl &l = Sl

Discuss the Post-testing and concurrent methods of
advertising effectiveness measurement. (8,7)

fomoT & guRfierar Ao &1 re-2fET 9 gHeRTeid
fafeaf =t =men *{
What do you mean by self-regulation regarding deceptive

and untruthful advertising. Also give some suggestions for
controlling excessive advertising. (10,5)

JEEE 9 oA foRoHl % day § @ 9 o
i 2? Safus fammm & foEm & fon w9 g
F <l

26344//KD/1447 2



6. Explain the different ways in which agencies are
compensated for their services. 15

foRma o= &t Teneli & 98 H S= uiiefde <
w1 fafe=m fafl +t =men

7. Explain the principles of client agency relationships. Give
reasons for client turnover from ad-agency ?

I Uedh-Toi-dl gaui & fagial &1 = &l e
% foRl o Big # 9 % HROT 1 W 9u i

8. Discuss the different types of Ad-agencies. What factors
would you kept in mind while selecting an ad-agency ?
(9,6)

fomm weife=l & fafa= 9rd &1 avl 1 & formaa

TSl % FAE H TR d@l ® e H W S e ?
9. Give detailed notes on any two :

(a) Pre-testing methods of measuring Ad-effectiveness.

(b) Misleading advertising and false claims.

(c) Need for regulating Advertising. (7V2xT2)

=i 9t W famr 9 Ae dfSu .

(%) fosmmm gumesfierar @t qoi-ademor fafimr

(@) TRE FH o fom@ 9 g8 =M@l

(M famrodl & frEwa w1 sEeEsRdl

26344//KD/1447 3
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GBCE/JL-21 26456
BUSINESS MANAGEMENT-II
Paper—-BC-204
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory. All questions
carry equal marks.

% uter g & SR AN g gen 1 sifad R g g
% % gAA 2|
Compulsory Question ( 3fard ¥y)
1. Write short notes on the following :
frefafen w— dfaa fewfrr fafem:
(1) Employess oriented Leadership style.
FHAR FUE Agd Srel|

(1)) Objectives of Motivation.

AT % 3=

(i11) Process of Communication.
AL ki Gkl

(iv) Effective Communication.
ERICINRSECIEy

(v)  Quantitative Control.
H&AHs:  JHM|
(vi) Process of Management of changes.

IRadd & Yo i i

2.  What is the concept of Leadership? Discuss its importance in Business
management.

Iga w1 R ¥R @ 2?7 AR YA W g HWewd i el
hifSTq|

3.  What is Motivation? Explain its features and process.

AMTITOT o B? TES! WHAT T TUN w1 oUA shife)
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4. Discuss various Motivational techniques to increase Motivation.
sfqren & gfg & foau fafa= sifuuRomers da-ieRl &1 == Hifeg)

5. Describe various barries of Communication. What measures you suggest to

overcome them?

TRmEed § o ael fafa= amenstil & =ren & 31 st w [
FH & fau oy g W R?

6. Define the Controlling? Indicate the process of Controlling.
o= o aftafug wifswl = &1 gfeen sdEu)

7. Critically evaluate the Traditional techniques of Managerial control.

gt A0 Rl TERETG ekl W STAEAcHeh  Hedishd iUl

8.  What is Planned Change? Explain the process of Planned change.

o o o (o

frfsa aftads @ 27 Fraifsa afeds st ufeen &1 =ofe it

9.  Why do people resist Changes? How will you overcome the Resistance?

i ufdal w1 foiy = #d B2 o 3@ feRy w hd W R
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